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Five friends A,B,C,D and E are sitting in a straight line facing north (not in the same order).There are two person on the left of A. B is sitting at
the right end. D is second to the right of E. Where is C seated?

Options :

1. # To the right of A

2. ¥ Next to the left of E

3. # To the right of B

4. #* Second to the left of D

Question Number : 1 Question Id : 396136605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ADICTE 3R

2. ¥ EDI I8 AR FTAH

3. % B&H IS 3R

4. % DD G W G VMW

Question Number : 2 Question Id : 396136606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Four friends A,B,C and D are sitting around a square table facing towards the centre. A is sitting at the north-east corner of the table. B is sitting to
the left of A. C sits diagonal to B. If all friends move one position in anti-clockwise direction, who sits in the north-west corner?

Options :
1.¥ A
2.% B
3.% C
4. % D

Question Number : 2 Question Id : 396136606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ A

2. % B

3. % C

4. % D

Question Number : 3 Question Id : 396136607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In a 15-storey building, C lives on the 9th floor. H lives on the 5th floor below C. K and H live on the same floor. L lives on the 2nd floor above
K. T lives on the 3rd floor below C’s floor. P lives on the 6th floor above L’s floor and J lives on the first floor.

Assuming that all the other floors are empty and two residents live in each of the above houses, how many residents are there between the 8th
floor and the 2nd floor?

Options :
1. * 10
2. % 12
3.8
4. % 6

Question Number : 3 Question Id : 396136607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 10

2. % 12




3.4°8
4. % 6

Question Number : 4 Question Id : 396136608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements:

Some Little’s are More’s.

Some More’s are Plenty.

All Plenty’s are Returns.

Conclusions:

I. All Return’s are More’s.

II. Some Return’s are Little.

II1. All Return’s are Plenty.

IV. No More is Return.

Options :

1. #* Only conclusion II follows

2. % Only conclusion III follows

3. * Both conclusions III and IV follow

4. ¥ Neither conclusion follows

Question Number : 4 Question Id : 396136608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had (B [1 IR0 Hal §
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Question Number : 5 Question Id : 396136609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the term from among the given options that can replace question mark (?) in the following series.
EJOS, HP821, KV242, ?

Options :

1. % NB8I
2. ¥ NB82
3. % NC22
4. % MB84

Question Number : 5 Question Id : 396136609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

fau U faswedl § ¥ I U &1 994 Hifore ot FufaRad §ad # usars g (2) & RIF R 31 9dhdl g

EJOS, HP821, KV242, ?
Options :

1. ¥ NB8I

2. ¥ NBS&2

3. % NC22

4. % MBg4

Question Number : 6 Question Id : 396136610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

Select the term from among the given options that can replace question mark (?) in the following series.
OVDA, TAIF, YFNK, ?

Options :

1. #* CLSN
2. % DLSP
3. ¥ DKSP
4. % DKTO

Question Number : 6 Question Id : 396136610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

fau 7T fawedl ¥ T I U &1 T8 Piforg S FUfeiad sRae & usare fomg (7) & RIF WR 31 9&hdl g |
OVDA, TAIF, YFNK, ?

Options :

1. ®* CLSN

2. = DLSP

3. ¥ DKSP

4. = DKTO

Question Number : 7 Question Id : 396136611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Study the given information carefully and answer the question that follows.

For a selection process in a private college for higher education, the candidates need to satisfy the following qualification criteria.

The candidate:

A. must have scored above 92% in the 12th standard.

B. must be from the CBSE Board of Education.

C. must be 17 years old as of 1 August 1993.

D. can be a resident of any state or UT of India. The last five years of education should be from a single educational institute.

However, if the candidate fulfils the aforementioned criteria,
EXCEPT:



1. if condition B is unsatisfied but the candidate has more than 98% in 12th board exam, the case shall be reviewed by Director of the institute.
2. if condition D is unsatisfied but the candidate has more than two achievements at a national level sports competition, the case shall be reviewed
by the Board Members.

Based on the above information, decide whether the following candidate is eligible for the recruitment process and select your answer from the
given options. You should NOT assume anything other than the information provided.

Atul was born on 3 November 1975. He scored 95% in his 12th ICSE board examination. He hails from Punjab and has been in the national
swimming team since the last 5 years. He has won several medals in the competitions.

Options :

1. % He will get admission in the college.

2. % He will not get admission in the college.

3. * His case will be reviewed by the Director of the Institute.

4. % His case will be reviewed by a Board member of the Institute.

Question Number : 7 Question Id : 396136611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 8 Question Id : 396136612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In a certain coded language,“CLEAR’ is coded as ‘JHTPQ’ and ‘TRAP’ is coded as ‘KQPL’. How will‘PLATER’ be coded in that language?
Options :

1. ¥ LHTEPQ

2. % LLPKTQ

3. ¥ HLPKTO

4, % LHPKTQ

Question Number : 8 Question Id : 396136612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % LHTEPQ

2. % LLPKTQ

3. % HLPKTO

4, ¥ LHPKTQ




Question Number : 9 Question Id : 396136613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In a certain coded language, ‘ROOK’ is coded as ‘LVVE’ and ‘PAWN” is coded as ‘JTHQH’. How will‘BISHOP’ be coded in that language?
Options :

1. ¥ UOMBUI

2. ¥ VPMBV]J

3. % VPNABJ

4. ¥ WPMBVI

Question Number : 9 Question Id : 396136613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

T% FAfYd Fe W & ‘ROOK” BT “LVVE’ 3R ‘PAWN’ Bl JHQH’ & =0 H Fredg [l SIIdl & | S TN H <BISHOP® &1 ford TR
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Options :

1. ¥ UOMBUI

2. ¥ VPMBVJ

3. % VPNABIJ

4. % WPMBVI

Question Number : 10 Question Id : 396136614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A person started from his home and cycled in the north direction for 9 km. After that he turned right and cycled for 30 minutes at a speed of 20
m/s to reach the railway station. His brother also started from their home and walked towards the east for 40 km. After this his brother turned left
and walked 10 km. What is the shortest distance from his brother’s current position to the railway station?

Options :

1. % Approximately 3 km
2. % Approximately 5 km
3. % Approximately 4 km
4. % Exactly 5.19 km



Question Number : 10 Question Id : 396136614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. * CITHIT 3 km
2. % CTHIT 5 km
3. % CTYHIT 4 km
4. % 3P 5.19 km

Question Number : 11 Question Id : 396136615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language,
‘A $ B’ means ‘A is the mother of B’.
‘A F B’ means ‘A is father of B ’.

‘A @ B’ means ‘A is the brother of B’.
IfJ$ K@ P +H , then how is K related to H?

Options :

1. * Mother’s Brother
2. % Father’s Brother
3. * Mother

4. * Father

Question Number : 11 Question Id : 396136615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % HIdT BT HTs (HTH1)

2. « fUAT &1 4IE (=man)

3. % Hral

4. % fOar

Question Number : 12 Question Id : 396136616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third letter cluster in the same way as the second letter cluster is related to the first letter cluster.
TRYING : XICZRX::SUBDUE : ?

Options :

1. ¥ WLFUYV
2. % VLFUYW
3. ¥ WLEUYW
4. % WLFVYU

Question Number : 12 Question Id : 396136616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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TRYING : XICZRX::SUBDUE : ?

Options :

1. ¥ WLFUYV
2. % VLFUYW
3. % WLEUYW
4. % WLFVYU

Question Number : 13 Question Id : 396136617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

Four words have been given out of which three are alike in some manner and one is different. Select the one that is different.
Options :

1. #* Cognise

2. % Acknowledge

3. % Overlook

4, % Realise

Question Number : 13 Question Id : 396136617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

IR W5 faU T & o ¥ i foreht aRe ¥ T 90 § SR U =1 81 39 i =1ee &1 9 Shiforg |
Options :

1. ® SIHHT (Cognise)

2. % WHR B (Acknowledge)

3. ¢ 3{HE! HRAT (Overlook)

4. % TgdF dHRAT (Realise)

Question Number : 14 Question Id : 396136618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In the question below is given a statement followed by two courses of action numbered I and II. You have to assume everything in the statement
to be true and on the basis of information given in the statement, decide which of the suggested courses of action logically follows for pursuing.
Statement:

There has been an increase in the incidences of school violence in USA.

Courses of action:

I. People need to realise the importance of home-schooling and start preparing for it.

II. The Government should make policies to give the highest punishments to any school offenders.

Options :

1. * Only I follows

2. % Only II follows

3. #* Either I or II follows

4. % Neither I nor II follows



Question Number : 14 Question Id : 396136618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % PHad I SFIER0I el §

2. % Had I 3IERU Bl §

3. % Il [ ORI BT § AT 11 R0 Bl &

4. QN1 SIERUI Rl § SR 7 8T 1 TR0 Bl §

Question Number : 15 Question Id : 396136619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Consider the given statement and decide which of the given assumptions is implicit in the statement.
Statement:

A certain university has made medical examination mandatory before taking the admission.
Assumptions:

I.The selection criteria of this university are very stringent.

II.The university does not want student with weak physical health to get admission.

Options :

1. # Only assumption I is implicit
2. % Only assumption II is implicit
3. % Either I or II is implicit

4. ¥ Neither I nor II is implicit



Question Number : 15 Question Id : 396136619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % PHad IYRON [ fdf-ied g

2. % PHad YR 11 Sdfifed &

3. % gr a1 Siafifed g a1 11 idfHfed &

4. ¢ 911 afifed g R A8t 11 siafifed g

Question Number : 16 Question Id : 396136620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the number from among the given options that can replace the question mark (?) in the following series.
17,21,29,45, 7, 141

Options :
1. %79
2. % 32
3. % 64
4. 77

Question Number : 16 Question Id : 396136620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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17,21,29,45, 7, 141

Options :




1. * 79
2. % 32
3. % 64
4. 77

Question Number : 17 Question Id : 396136621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A question is given, followed by two statements labelled I and II. Identify which of the statements is/are sufficient to answer the question.
Question:

If certain people are sitting in a line, how many people are sitting between Priya and Puja?

Statements:

L. Priya sits in the left corner of the line.

II: Puja is sitting at the 15th position to the right of Priya.

Options :

1. * Only statement I is sufficient
2. % Only statement II is sufficient
3. % Both statements are sufficient

4. % None of the statements are sufficient

Question Number : 17 Question Id : 396136621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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4. % 5 N py wufa 781 8

Question Number : 18 Question Id : 396136622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the correct combination of mathematical signs that can sequentially replace the * signs and balance the given equation.
55 *78 * 6 ¥*76* 91 =730

Options :

l. # X +— +
2. % = =X +
3.9 x+~— +

2 9

Question Number : 18 Question Id : 396136622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

T gl & I et TS &1 T L S + RIgl &) St U ufawiid ovas 3T e wfienvur o) Tgferd &R gl g
55 *78 * 6 ¥76* 91 = 730

Options :

1. # X +— +
2. % = —x, +
3.9 x + — +

4' = +3X7_7+

Question Number : 19 Question Id : 396136623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Study the given bar-graph and answer the question that follows.The bar-graph shows the data of new recruits for companies A, B and C across a
year.
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What is the ratio of new recruits for company A in the months from May to August to company C in the months from September to December.
Options :

1. % 63:71

2.¥91:71

3. % 71: 63

4. % 71:91

Question Number : 19 Question Id : 396136623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
ﬁmﬁo—daﬁ-ﬂ%mm&rwaﬁ 3R el faU U Uy &1 IR S ITR-IT U AT & SRME HUHAT A, B 3R C H g8 T3 Uil Aaferd ST &l
el a1 B |



&0oo

&0

455 455
400
5 334 134 5
300 M8
a4
200
100
0
FO=T A =T B FO=T C

WAL AT o FE LW TeOE-TEEET

TS 3T &b AR & Ut A F 1w 75 Heff 3iR Rider F fewiar & #e=i & byt ¢ ¥ forg 78 weff o1 eigura 31a i

Options :

1. % 63:71
2.¥91:71
3. % 71: 63
4. % 71:91

Question Number : 20 Question Id : 396136624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Study the given bar-graph and answer the question that follows.The bar-graph shows the data of new recruits for companies A, B and C across a
year.
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If company C purchases company B from the 1st of May, what would be the percentage decrease of company A’s new recruits from May to
December to company C’s recruits during the same time?
Options :
1. #® Approximately 13%
2. ¥ Approximately 11%
3. % Approximately 31%
4. % Approximately 41%.

Question Number : 20 Question Id : 396136624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % TTHIT 13%
2. % TTTHIT 11%
3. # dATHIT 31%
4. % TAMHIT 41%
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Question Number : 21 Question Id : 396136625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In September 2022, which indigenous vaccine was announced by Union minister Dr Jitendra Singh for the prevention of cervical cancer?
Options :

1. * CERVARIX

2. ¥ CERVAVAC

3. % GARDASIL 9

4. * HEPLISAV B

Question Number : 21 Question Id : 396136625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



fRrdeR 2022 B, Fefa 1= ST s Ris gR1 Gafsed HWR o1 Abum F g iy W= S o) o ot 778 o
Options :

1. % gaRad (Cervarix)

2. ¢ gddd (Cervavac)

3. % TS 9 (Gardasil 9)

4. % TG &Y (Heplisav B)

Question Number : 22 Question Id : 396136626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

On the 76th Independence Day of the country, the tricolour was saluted for the first time with the indigenous cannon of Advanced Towed Artillery
Gun System (ATAGS) with how many gun salutes?

Options :
1. % 20
2.9 21
3. % 22
4. % 23

Question Number : 22 Question Id : 396136626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 20

2.9 21

3. % 22

4. % 23

Question Number : 23 Question Id : 396136627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



In August 2022, in which State/UT was 'Parvaz Market Linkage Scheme' launched?
Options :

1. # Punjab

2. % Jammu and Kashmir

3. ¥ Haryana

4. % Himachal Pradesh

Question Number : 23 Question Id : 396136627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

3T 2022 ¥, TRATS HIdhe feforot Wh i for Ia/dvg MR U™ H = i 718 i
Options :

1. % G99

2. S 3R HIAR

3. % g

4. % T3 UG

Question Number : 24 Question Id : 396136628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In the Common Wealth Games 2022, Amit Panghal won the gold medal in boxing by defeating Kieran MacDonald of England in the men's
final.

Options :

1. % 48 kg
2. % 49 kg
3.% 51 kg
4, % 52 kg

Question Number : 24 Question Id : 396136628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® 48 kg
2. % 49kg
3. ¥ 51 kg
4. % 52 kg

Question Number : 25 Question Id : 396136629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements about Babur, the first Mughal Emperor is INCORRECT?
Options :

1. ¥ 1524 — succeeded to the throne of Ferghana.

2. % 1526 — defeated Ibrahim Lodi and his Afghan supporters at Panipat.

3. % 1527 — defeated Rana Sanga, Rajput rulers and allies at Khanua.

4. % 1528 — defeated the Rajputs at Chanderi.

Question Number : 25 Question Id : 396136629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

YT PIe T9TE 916R & aR § Fgfafad # 9 & 91 &Y= 7Tad g2
Options :

1. ¢ 1524 - B B T TR I3T

2. % 1526 - UHUd § SHRH Al 3R I8 MBI JHAS! B g
3. % 1527 — QT H A0 FIT, IASY D! 3R TG BT g
4. % 1528 - T T ST Y R

Question Number : 26 Question Id : 396136630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
People gathered on the banks of which river to hear Mahatma Gandhi speak before starting out on the Salt March in 1930?
Options :



1. % Sabarmati
2. ® Narmada
3. #® Ganga

4. % Sarasvati

Question Number : 26 Question Id : 396136630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

1930 H THS BT Y= B J Ugcd HeTT et & U1 Dl A o fe1T AT fobrg -1t & dc IR Uabfad gu a2
Options :

1. ¢ FIaRAdt

2. % qHT

3. % 7

4, % WAL

Question Number : 27 Question Id : 396136631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

At Bodh Gaya, which Prince achieved enlightenment to become Gautama Buddha?
Options :

1. # Mahakasyapa

2. % Siddhartha

3. % Sravana

4. % Camundaraya

Question Number : 27 Question Id : 396136631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

ST H, DI T AGHHAR I T HIP T g5 512
Options :

1. % HglhJyY




2. fygnd
3. % yqu

4. % HHUSAT

Question Number : 28 Question Id : 396136632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a classical dance of South India?
Options :

1. * Bharatanatyam

2. ¥ Kathak

3. #* Kuchipudi

4. % Mohiniyattam

Question Number : 28 Question Id : 396136632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
frufeaa & 1 1 <fé0r YR &1 IR T T8 82
Options :

1. %* WRdATRH

2. ¥ DYD

3. % Piage

4. % HifgAtercH

Question Number : 29 Question Id : 396136633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

How many primary ragas are there in classical Hindustani music?
Options :

1. # Two

2. % Four



3. ¥ Six
4. % Eight

Question Number : 29 Question Id : 396136633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

YR fggeart Tiid § fara= omufiies <1 81 62
Options :

1. %@

2. % IR

3. ¥ 8%

4. % S

Question Number : 30 Question Id : 396136634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The Fitch Rating slashed India’s economic growth forecast for FY 23 from
Options :

1. % 2.4%to 1.7%

2.9 7.8 %to 7%

3. % 7.4% t0 6.7%

4. % 55%to 5%

Question Number : 30 Question Id : 396136634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

fo5r I (Fitch Rating) 7 faia a¥f 23 & T URA & onfdfer fopa F s e g
Options :

1. % 2.4% Y GeTHR 1.7%

2. ¥ 7.8 % I °CTHR 7%

3. % 7.4% Y GCIPR 6.7%




4. % 550 Y YR 5%

Question Number : 31 Question Id : 396136635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

At which place in India has the Reliance Industries announced to setup the first and one of the world’s largest carbon fibre plant?
Options :

1. ¥ Hazira, Gujarat

2. % Kota, Rajasthan

3. * Lucknow, Uttar Pradesh

4. % Bhopal, Madhya Pradesh

Question Number : 31 Question Id : 396136635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ BoIRI, oRId

2. % i, IYH

3. % TETS, ITR U

4. % IUTd, 7T U™

Question Number : 32 Question Id : 396136636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In which of the following states of India are tropical deciduous forests found?
Options :

1. # Rajasthan

2. % Karnataka

3. %* Tamil Nadu



4. % Qdisha

Question Number : 32 Question Id : 396136636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

YR & fFafafaa o 9 fg wsg & Iwresfesdhy gofurd o= o o 82
Options :

1. % SR

2. % FlcH

3. % Qg

4. ¢ TS

Question Number : 33 Question Id : 396136637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

As per the notification dated 11 March 2022, issued by the Ministry of Home Affairs, after the completion of taking of census, the census
schedules and connected papers shall be kept at which place?

Options :

1. % Office of Census Commissioner

2. % Office of Director of Census Operations
3. % Office of Registrar General

4. # Office of Deputy Registrar

Question Number : 33 Question Id : 396136637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4. % IUTUSIO® & Hrafag H

Question Number : 34 Question Id : 396136638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

According to the ‘Trade and Development Report 2022’ released by UNCTAD in September 2022, the Indian economy will grow by what per
cent in the year 20227

Options :
1. ® 4.9%
2.9 5.7%
3. % 6.2%
4. % 3.7%

Question Number : 34 Question Id : 396136638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # 4.9%

2.9 5.7%

3. % 6.2%

4. % 3.7%

Question Number : 35 Question Id : 396136639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which astronomers have developed an artificial intelligence (AI) technique which will help in removing noise in astronomical data because of
random variations in galaxy shapes?

Options :
1. ¥ Japanese

2. #* Indian



3. #* British

4. % Canadian

Question Number : 35 Question Id : 396136639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

g @iafae = Te HRAH FSHT (Al TS [AHRIT B & Sl STHREAT & TSR H refasd fd1 & HRUT TG Sl H AR B X
DR H HGG B

Options :

1. ¢ S

2. % YRd

3. % fgfew

4. % HASTA

Question Number : 36 Question Id : 396136640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

KRITAGYA 3.0—A National Level Hackathon is being organised by whom?
Options :

1. * Indian Chamber of Food and Agriculture

2. * Indian Council of Food and Agriculture

3. ¥ Indian Council of Agricultural Research

4. * Indian Institute of Crop Processing Technology

Question Number : 36 Question Id : 396136640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FAT (KRITAGYA) 3.0-Th BT TR BT g1 s gRT STAIord fosam o1 87 52
Options :

1. ¥ YR Qe T w ECH (Indian Chamber of Food and Agriculture)

2. % YR Q@Y 3R ?ﬁf URYE (Indian Council of Food and Agriculture)



3. YRA™ w STHYT URYE (Indian Council of Agricultural Research)
4. % YR B BT Ui G (Indian Institute of Crop Processing Technology)

Question Number : 37 Question Id : 396136641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements about cell is INCORRECT?
Options :

1. # Prokaryotic cells have no nucleus.

2. # Prokaryotes generally reproduce by binary fission.

3. ¥ Eukaryotic cells include archaea, bacteria, and cyanobacteria.

4. ® The size of eukaryotic cells ranges between 10100 um in diameter.

Question Number : 37 Question Id : 396136641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

DIFRABT (cell) & IR F FURIET & J B I HY 7Ted 72

Options :

1. % QiepRafes HifRwet § #18 T1fie T8t gl |

2. % THRIACY AR W fg3emt fod s gR1 v+ & g |
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Question Number : 38 Question Id : 396136642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following parts of the Indian Constitution is adopted from the Ireland Constitution?
Options :

1. ¢ Directive Principles of State Policy

2. % Fundamental Rights

3. ¥ Fundamental Duties



4. % Union and Executive

Question Number : 38 Question Id : 396136642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

YR TfGeT o1 RAfaRad § 3 S 91 4R 3RS & AT J SU=1 7 62
Options :

1. ¢ I & Hifd Fdere Rigia

2. % Hifeie SUBR

3. % TS Hd

4. % T 3R BHRIUTIIBT

Question Number : 39 Question Id : 396136643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
With respect to Indian Banking system, which of the following is NOT a function of commercial banks?

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. Preparing the monetary policy

2. Credit creation

3. Accepting deposits

4. Providing overdraft facility

Question Number : 39 Question Id : 396136643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. IAYI® UROT AR BRI

2. gafAfEd

3. 341 WiHRu

4. 3y a1 Rfqur

Question Number : 40 Question Id : 396136644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In the month of August 2022, Paola Maino died in Italy. She was the mother of which Congress President?
Options :

1. % Sonia Gandhi

2. % Sitaram Kesri

3. % PV Narsimha Rao

4. # Rajiv Gandhi

Question Number : 40 Question Id : 396136644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

3T 2022 & He I H et H Ureial Al &1 o= 81 11 98 fhg Hiv 3regef &1 Af o2
Options :

1. « i e

2. % IR B

3. % Uidl RRId

4. % Toilq el
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Question Number : 41 Question Id : 396136645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :

Numerical Aptitude and Data Interpretation

3
39613633

Cant View
No

Numerical Aptitude and Data Interpretation

39613633
1

Online
Mandatory
20

20

20

Yes

0

1
39613637
Yes

null

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



If 17x5—{45 — [25 — (16— x)]} = 156 =+ 3. then the value of x is:
Options :
1% 1

Question Number : 41 Question Id : 396136645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

afg 17 x5 —{45 — [25 — (16— x)]} =156+3 &, @ x o AT A HIT=T|
Options :

T

Question Number : 42 Question Id : 396136646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The value of 0.216+ 0.115 —0.113 is:
Options :



12

24

41

31

Question Number : 42 Question Id : 396136646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

0.216+ 0.115—0.113 &1 HF AT H=T|
Options :

12
| v 55

24
) % 37

41
3 % 45

31
4 % 61



Question Number : 43 Question Id : 396136647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
The average of twelve consecutive integers is 15.5. What is the sum of thrice the smallest number and twice

the greatest number?
Options :
1 % 60

) # 65

3 % 70

-

4.¢ 72

Question Number : 43 Question Id : 396136647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

SE FAFTT qUie & HTa 155 g1 Tod O TEAT & A 7 3T Ta8 I57 T&AT & g F AT
T 87

Options :

1 = 60

) % 65

3 % 70



4. 12

Question Number : 44 Question Id : 396136648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A motor vehicle travels one-fourth of the distance at a speed of 56 knvh, half of the remaining distance at a speed of
70 km/h and the remaining distance at 84km/h. What is the average speed (in kinvh) of the motor vehicle for the
whole journey?
Options :

1 % 63

Question Number : 44 Question Id : 396136648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

T Al TEA TH AUS g 56 km/h F T F TT FIAT ¢, AT I FT HT #9770 km/h Fr T H
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Options :

| % 63

) % 57
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Question Number : 45 Question Id : 396136649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Last year A’s salary was ¥15,000 and B’s salary was 212,000. This year A’s salary is ¥18.000 while B’s salary is

Z15.000. The percentage increase in B’s salary is how much percent greater than the percentage increase in A’s
salary?
Options :
1. % 25%
2. % 20%
3. % 15%
4. % 10%

Question Number : 45 Question Id : 396136649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

oo a¥ A &7 397 215,000 o7 3T B &7 3a 312,000 2| 29 9§ A &7 397 318,000 § ==f& B &1
3d=7 215,000 g1 B & a7 & wfaed &, A & a8 & gfoed 3fE & s wioea 3fos 87

Options :
1. % 25%
2. % 20%
3. % 15%
4. % 10%

Question Number : 46 Question Id : 396136650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
Akhil bought a flat for ¥15,50,000. He spent 50,000 on painting and repairs. If he sold it for 215,12,000,

then what was his loss percentage?
Options :

1. % 8.5%

Question Number : 46 Question Id : 396136650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

3@ 7 215,50,000 H TF Tele TET 38 dfeer 3T AFAT 9 50,000 T3 @@= 0|
Ifg 30 9 315,12,000 & 3=, Ir 3TSr iy siaera Far o

Options :

| % 85%
5 % 7.5%
; % 6.5%

4 v 55%

Question Number : 47 Question Id : 396136651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
A retailer marked the price of his article so as to include a profit of 21%c. If he allowed a discount of 12%

on the marked price, then what was his actual profit on that article?

Options :
1« 0.48%

5 % 7.28%
3 % 5.98%

4 % 8.18%

Question Number : 47 Question Id : 396136651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

T FTHT Taehdl 7 AT TG F Hed 3@ TR Afha Far & 3w 21% F omr anfae gn 3fe 3%
Hera AT W 12% N T AT 8, O 37 T&J T 3TH TEAiash st fohedar o472

Options :

| v 6.48%

5 % 7.28%
s % 5.98%

4 % 8.18%

Question Number : 48 Question Id : 396136652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
The marked price of a book is Z1.100. A man bought the same for Z866.25 after getting two successive

discounts, the first being 12.5%. What was the second discount rate?
Options :
1. % 10.10%

, % 10.25%
3« 10.00%

4 % 10.50%

Question Number : 48 Question Id : 396136652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
U JEAH 1 Hihd Hed 31,100 1TF HEHAT & 38 3] &I & HiAs T Wod e & 916 1866.25
H TSI, Tgell BT 12.5% ol gF TT eT F4r o2

Options :
| % 10.10%

5 % 10.25%
s v 10.00%

4, % 10.50%

Question Number : 49 Question Id : 396136653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

Salaries of A and B are in the ratio 5:6. If the salary of each is increased by 2,000, then the new ratio becomes
19:22. What is A’s increased salary?

Options :

|« 29,500

5w 29,750
s % 29,300

4 % 29.250

Question Number : 49 Question Id : 396136653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
A AT B & aa7 5:6 & I H 1 I whF F A # 22,000 Fr g Fr S g, A
AT AT 19:22 & ST g1 A FT TG gam I FT &7

Options :
| » 79,500

, % 29,750
s = 29,300

, % 29,250



Question Number : 50 Question Id : 396136654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

. . . : 1 1 1 . . . . .
The sides of a triangle are in the ratio 227012 and its perimeter is 38 cm. The length of the longest side is:

15
Options :
1. % 12cm

7« l6cm
3 % 18cm

4. % 20cm

Question Number : 50 Question Id : 396136654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

T THRIST T SfSHT T AU —:—:— 7 AR FHH INAMT 38 cm T WA S oo A
dars foraer 872

Options :

% 12 cm

)« 16 cm

3 % 18 cm

4 % 20 cm



Question Number : 51 Question Id : 396136655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
A sum at simple interest at the rate of 7.5% per annum amounts to 11,025 after 3 years.

What is the simple interest?

Options :
1« 32,02

Lh

5 % 22,100
3 % 22150

Question Number : 51 Question Id : 396136655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
F5 UMY 7.5% 1¥F &7 & FIROT =4 9 3 a9 a1 11,025 & Sdr &1 FaoT sar= 47 272

Options :

| v 22,025
, % 32,100
s x 32,150

4 % 32,275



Question Number : 52 Question Id : 396136656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
If 717.500 amounts to 21,175 in 2 years at the rate of x % per annum compound interest, then the value of x is:
Options :

1% 12
o # 11
3.¢ 10

4 % 13

Question Number : 52 Question Id : 396136656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
TfEg 217,500 H TR x% I Thgie ear=r FT T & 2 Iu & 221,175 & AGT &, af x F A A1d
ST

Options :
o= 12

7 % 11

3« 10

L % 13

Question Number : 53 Question Id : 396136657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

Balaji covers a distance of 37.5 km in 30 minutes on a bike. How long will he take to cover a distance of
100 km with the same speed?

Options :

1 % 70 minutes

o % 75 minutes
3« 80 minutes

4 % 82 minutes

Question Number : 53 Question Id : 396136657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

STeTsl T a1 R 30 Bee # 37.5km#FT gt 97 ar g1 9§ 36 = & 100 km F gl T FA

F rgar g@ag o
Options :

| % 70 B=e

, « 75 fAee
s v 80 fee

, % 82 T



Question Number : 54 Question Id : 396136658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In a stream running at a speed of 3km/h, a motorboat goes 84 km upstream and back again to the starting point in 260
minutes. What is the speed (in km/h) of the motorboat in still water?

Options :

1. % 36

Question Number : 54 Question Id : 396136658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

3km/h Fr T T T WY TF 9T H, T AlIEE O F 9T Eer 7 84 km S § 3t 260 e
# i & yifae g W aaw e 31 TR s« & Aeg@e # 9 (kmvh #) #4782

Options :

| % 36

) % 38
3. ¢ 39

4 % 33



Question Number : 55 Question Id : 396136659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Arun and Bhaskar can complete a work in 26 days and 39 days, respectively. If they work together,
then in how many days can the entire work be completed?

Options :

14§ days

1. #

13 E days

2. %

152 days
3.¢ S

. 12‘; days
4. 5

Question Number : 55 Question Id : 396136659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

3TOT 3R AR T A & wAer 26 G 3K 39 A & U & #@a 81 I 3 = 1y
FH Fd 8, T A F hae A F ) G o wwar 2
Options :

142 ==
e 5

1331 &=
e 5



152 &=
w” 5

3.8

122 &=
- 3

Question Number : 56 Question Id : 396136660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A and B working separately can complete a piece of work in 46 days and 69 days, respectively. If they work for a day
alternately, beginning with A, then in how many days the work will be completed?
Options :

| = S3days

,  O5days
3 % 7 days

4 % 39days

Question Number : 56 Question Id : 396136660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
A 3T B TI-HT FY cl-:{ﬁ§'l’l4d—:ﬂ?l‘é‘ﬁﬁ'ﬂﬂ 46 Tt 3R 69 feal & W X T 1 T T A
¥ Y A §T THR T F TH-OF OF FE A ¢, @ F frwer et 7 @ gem?

Options :

| % 53 fe=t




2. v 55 fe
3 ® 5?%?-
4. ® 59%

Question Number : 57 Question Id : 396136661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Study the given table and answer the question that follows.

The table shows the marks obtained by five students in five different subjects in an examination. The numbers

inthe brackets indicate maximum marks in each subject.

Subject — | English | Hindi | Mathematics | Physics | Chemistry
Student! | (100) | (100) | (150) (60) (60)
Ambedkar 92 93 141 55 56
Bharath 94 93 142 52 54
Charan o1 86 136 49 56
Damodhar a4 a0 143 56 53
Gangadhar| 94 92 143 55 54

What is the average marks obtained by all the five students in Mathematics?

Options :
1 v 141

5 % 142



3 % 143

4 % 144

Question Number : 57 Question Id : 396136661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

&r oS e 7 3 FY AR A T v g 1 e &

aTferesT T IET H 9T HeET-HeET Avar # 9w [eanfiar @Rt 9rog e @ g2idr g1 Hises H &
IE AT T3 faww F #f&eadm 36 Fr sardr gl

far — | e | R | oo | it e | e ae
Fagareft, | (100) [ (100) | (150) (60) (60)
FEgsET | 92 | 93 | 141 55 56
R 94 | 93 | 142 52 54
TROT 91 86 | 136 49 56
e 94 | 90 | 143 56 53
TR 94 | 92 | 143 55 54

0T & |l oier Remfdat qanr g sitwa 3 W=
Options :
1w 141

5 % 142



3 % 143

4, % 144

Question Number : 58 Question Id : 396136662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Study the given pie-chart and answer the question that follows.

The pie-chart shows the distribution of land in a state under various food crops.

Distribution of area (in million acres) under various food
crops

B Wheat

B Rice

m Barley

B Ground nut
 5un flower
m lowar

m Bajra

Maize

If the total area under wheat was 2.7 million acres. then what was the area (in million acres) under
sun flower?
Options :

|« 1.0125

5 % 0.9825

3 % 11125



4. % 1.7825

Question Number : 58 Question Id : 396136662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

feu v A @ sewma F AR A T v g # 3R &
ars-are R U= # fafdes wen waal & e 8 & faawor @ g gl

A @ Tadl & &7 &9 (AEaT whs &) &1 G

.
" TTEE
w Tt .
FHITEET

LS

" TS

-

ofg g & e $o &7 2.7 Ao v o1, O gr=gEr F fov faer &7
(CGIECCREEIE

Options :

| v 1.0125

, = 0.9825
s % 1.1125

4 % 1.7825



Question Number : 59 Question Id : 396136663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Arooml0 m 75cm long and 6m 88cm broad is to be paved with square tiles. What is the least number
of square tiles required to cover the floor?
Options :
1. % 300

Question Number : 59 Question Id : 396136663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

10 m 75cm &9 3T 6 cm 88cmaﬁ?ﬁm#$ﬂ‘q¢$ﬁwaﬁﬁwnm AT 2
FY F F F T FA T FH G TR TS B EaRTmar g7

Options :

1 % 300

5 % 340
s % 360

4.« 400



Question Number : 60 Question Id : 396136664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
If the ratio of the base radius to the height of a cone is 5:7. and the area of the base of the cone is 506.25 7 cm?,

then the volume of the cone is:
Options :

| % 17.825.25 cm®
5« 16,706.25 e’
, % 15.914.25 cm’

4w 14.992.25 e’

Question Number : 60 Question Id : 396136664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

ofg 3 Bear &1 o # FAE ¥ AT 57 §, 3R 0% F HUR F SI6a 506.25 7em?
al F FH HITT AT HT|
Options :

| % 17,825.25 cm’

, » 16,706.25 cm’

s % 15,914.25 cm?



, « 14,99225 cm3
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Question Number : 61 Question Id : 396136665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a meaningful and coherent
paragraph.

A.There was a serious water shortage in the Midlands.

B.Nasiruddin, who was working in a nearby factory, volunteered to help.
C.The Council advertised for a water-diviner.

D.Due to lack of rain, the lakes which supplied the city’s reservoirs were low.

Options :

1. * ACBD
2. ¥ ADCB
3. % BCDA
4. % CDAB

Question Number : 61 Question Id : 396136665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a meaningful and coherent
paragraph.

A.There was a serious water shortage in the Midlands.

B.Nasiruddin, who was working in a nearby factory, volunteered to help.
C.The Council advertised for a water-diviner.

D.Due to lack of rain, the lakes which supplied the city’s reservoirs were low.

Options :

1. * ACBD
2. ¥ ADCB
3. #* BCDA
4. % CDAB

Question Number : 62 Question Id : 396136666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a meaningful and coherent
paragraph.

A. It has to ‘steal a half hour’ from their life every day.

B. An essential ingredient, it has to entice viewers to come back every day.
C. In television, the ‘hook’ is crucial.

D. But web series allow you to ‘delve into a character’s life’.

Options :

1. ¥ CBAD
2. % DCBA
3. % CDAB
4. % BDCA

Question Number : 62 Question Id : 396136666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a meaningful and coherent
paragraph.

A. It has to ‘steal a half hour’ from their life every day.

B. An essential ingredient, it has to entice viewers to come back every day.
C. In television, the ‘hook’ is crucial.

D. But web series allow you to ‘delve into a character’s life’.

Options :

1. ¥ CBAD
2. % DCBA
3. * CDAB
4. % BDCA

Question Number : 63 Question Id : 396136667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in the blank and make the sentence meaningful and grammatically correct.
My mother’s handkerchiefs are all



Options :

1. # embroidery
2. ¥ embroidered
3. % embroidering

4. % embroider

Question Number : 63 Question Id : 396136667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in the blank and make the sentence meaningful and grammatically correct.
My mother’s handkerchiefs are all

Options :

1. # embroidery
2. ¥ embroidered
3. % embroidering

4. % embroider

Question Number : 64 Question Id : 396136668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
substitution required’.

Amar will be move to his new house next month.
Options :

1. * will be moved

2. % will moving

3. % will move

4. % No substitution required

Question Number : 64 Question Id : 396136668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
substitution required’.

Amar will be move to his new house next month.
Options :

1. * will be moved

2. % will moving

3. % will move

4. % No substitution required

Question Number : 65 Question Id : 396136669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
substitution required’.

Isn’t life tough for school-going children too?
Options :

1. # Tough isn’t life

2. % Life it is tough

3. # Life is it tough

4. % No substitution required

Question Number : 65 Question Id : 396136669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
substitution required’.

Isn’t life tough for school-going children too?
Options :

1. * Tough isn’t life

2. % Life it is tough

3. # Life is it tough



4. ¥ No substitution required

Question Number : 66 Question Id : 396136670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in the blank.
If all goes well, Simi us in December.

Options :

1. % visit

2. # has visited
3. % will visit

4. % visiting

Question Number : 66 Question Id : 396136670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in the blank.
If all goes well, Simi us in December.

Options :

1. % visit

2. # has visited
3. % will visit

4. % visiting

Question Number : 67 Question Id : 396136671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in the blank.
When he got the reminder, Ravi the cashier that he had already paid the subscription.

Options :
1. ¥ informed

2. * inform



3. * informs

4. % will inform

Question Number : 67 Question Id : 396136671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in the blank.
When he got the reminder, Ravi the cashier that he had already paid the subscription.

Options :

1. % informed
2. * inform
3. * informs

4. % will inform

Question Number : 68 Question Id : 396136672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in the blank.
Bashir was glad that the team was able to make a goal and win the match.

Options :

1. * readily
2. ¥ finally
3. * eagerly
4. * willingly

Question Number : 68 Question Id : 396136672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in the blank.
Bashir was glad that the team was able to make a goal and win the match.

Options :
1. * readily



2. ¥ finally
3. * eagerly
4. * willingly

Question Number : 69 Question Id : 396136673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in the blank.
The boat was moving the bridge when it suddenly capsized.

Options :

1. * above
2. ® over

3. ¥ towards
4. * ahead

Question Number : 69 Question Id : 396136673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in the blank.
The boat was moving the bridge when it suddenly capsized.

Options :

1. * above
2. ® over

3. ¥ towards
4. * ahead

Question Number : 70 Question Id : 396136674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate meaning of the given idiom.
Cry for the moon

Options :



1. % Ask for something difficult

2. % Be very inquisitive

3. % Desire white and shiny things
4. % Expect a costly gift

Question Number : 70 Question Id : 396136674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate meaning of the given idiom.
Cry for the moon

Options :

1. % Ask for something difficult

2. % Be very inquisitive

3. % Desire white and shiny things
4. % Expect a costly gift

Question Number : 71 Question Id : 396136675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the option that completes the given proverb correctly.
Laughter is

Options :

1. # always welcome

2. ¥ the best medicine

3. % healthy for everyone

4. % noisy and disturbing

Question Number : 71 Question Id : 396136675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the option that completes the given proverb correctly.
Laughter is



Options :

1. # always welcome

2. ¥ the best medicine

3. * healthy for everyone

4. * noisy and disturbing

Question Number : 72 Question Id : 396136676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to collocate with the word ‘example’ to fill in the blank.
Emma’s mother told her to an example for her younger brother.

Options :
1. # let
2. % get
3. * net
4. ¥ set

Question Number : 72 Question Id : 396136676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to collocate with the word ‘example’ to fill in the blank.
Emma’s mother told her to an example for her younger brother.

Options :
1. # let
2. % get
3. * net
4. ¥ set

Question Number : 73 Question Id : 396136677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to collocate with the word ‘brought’ to fill in the blank.
Harish was brought by his maternal grandparents.

Options :
1. ¥ up
2. % on
3. % in

4. % out

Question Number : 73 Question Id : 396136677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to collocate with the word ‘brought’ to fill in the blank.
Harish was brought by his maternal grandparents.

Options :
1. ¥ up
2. % on
3. % in

4. % out

Question Number : 74 Question Id : 396136678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate ANTONYM of the given word.
Petty

Options :

1. * Beautiful
2. * Delightful
3. % Important
4. % Graceful

Question Number : 74 Question Id : 396136678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate ANTONYM of the given word.
Petty

Options :

1. # Beautiful
2. % Delightful
3. % Important
4. % Graceful

Question Number : 75 Question Id : 396136679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate synonym of the given word.
Aberrant

Options :

1. ¥ Permeable
2. % Eccentric
3. ¥ Spongy
4. % Malleable

Question Number : 75 Question Id : 396136679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate synonym of the given word.
Aberrant

Options :

1. ¥ Permeable
2. % Eccentric
3. ¥ Spongy
4. % Malleable
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Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 396136680 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (76 to 80)

Read the following information carefully and answer the given questions.

Vedas, meaning “knowledge,” were written in Vedic Sanskrit between 1500 and 500 BCE in the northwestern region the Indian Subcontinent. The
Vedas were transmitted orally during the course of numerous subsequent generations before finally being archived in written form. Not much is
known about the authors of the Vedas, as the focus is placed on the ideas found in Vedic tradition rather than those who originated the ideas. The
oldest of the texts is the Rig Veda, and while it is not possible to establish precise dates for each of the ancient texts, it is believed the collection
was completed by the end of the 2nd millennium BCE (Before Common Era).

There are four Indo-Aryan Vedas: the Rig Veda contains hymns about their mythology; the Sama Veda consists mainly of hymns about religious
rituals; the Yajur Veda contains instructions for religious rituals; and the Atharva Veda consists of spells against enemies, sorcerers, and diseases.
(Depending on the source consulted, these are spelled, for example, either Rig Veda or Rigveda.)

The Rig Veda is the largest and considered the most important of the collection, containing 1,028 hymns divided into 10 books called mandalas.
The verses of the Sam Veda are taken almost completely from the Rig Veda, but arranged differently so they may be chanted. The Yajur Veda is
divided into the White and Black halves and contains prose commentaries on how religious and sacrifices should be performed. The Atharva Veda
includes charms and magic incantations written in the style of folklore.

Each Veda was further divided in two sections: the Brahmanas, instructions for religious rituals, and the Sambhitas, mantras or hymns in praise of
various deities. Modern linguists consider the metrical hymns of the Rigveda Sambhita, the most ancient layer of text in the Vedas, to have been
composed by many authors over several centuries of oral tradition.

Although the focus of the Vedas is on the message rather than the messengers, such as Buddha or Jesus Christ in their respective religions, the
Vedic religion still held gods in high regard.

The Aryan pantheon of gods is described in great detail in the Rig Veda. However, the religious practices and deities are not uniformly consistent
in these sacred texts, probably because the Aryans themselves were not a homogenous group. While spreading through the Indian Subcontinent, it
is probable that their initial religious beliefs and practices were shaped by the absorption of local religious traditions.

According to the hymns of the Rig Veda, the most important deities were Agni, the god of Fire, intermediary between the gods and humans;
Indra, the god of Heavens and War, protector of the Aryans against their enemies; Surya, the Sun god; Vayu, the god of Wind; and Prthivi, the
goddess of Earth.

Sub questions

Question Number : 76 Question Id : 396136681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
The Atharva Veda consists of:
Options :

1. #* Instructions related to various sacrifice rituals.



2. ¥ Spells against enemies, sorcerers, and diseases.
3. # Hymns about religious rituals.

4. % Hymns about their mythology

Question Number : 77 Question Id : 396136682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statements is correct?
Options :

1. # The Vedas were first transmitted in the written form.

2. # The main focus has always been on who originated these Vedas.
3. # The verses of the Rig Veda are taken from Sama Veda.

4. ¥ The focus of the Vedas is on the message rather than the messengers.

Question Number : 78 Question Id : 396136683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

All the given statements regarding Rig Veda is correct EXCEPT:

Options :

1. # Itis not possible to establish the precise date of its origin.

2. # The Rig Veda is considered to be the most important collection of hymns.
3. % It is divided into the White and Black halves.

4. % Tt is divided into 10 books called mandalas.

Question Number : 79 Question Id : 396136684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

What is the synonym of the word-‘ancient’ as used in the passage?
Options :

1. * Juvenile

2. ¥ Venerable

3. % Minor



4. % Unfamiliar

Question Number : 80 Question Id : 396136685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

What is the antonym of the word- ‘numerous’ as used in the passage?
Options :

1. * Inumerable

2. % Multifold

3. ¥ Few

4. * Specific

Question Id : 396136680 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (76 to 80)

Read the following information carefully and answer the given questions.

Vedas, meaning “knowledge,” were written in Vedic Sanskrit between 1500 and 500 BCE in the northwestern region the Indian Subcontinent. The
Vedas were transmitted orally during the course of numerous subsequent generations before finally being archived in written form. Not much is
known about the authors of the Vedas, as the focus is placed on the ideas found in Vedic tradition rather than those who originated the ideas. The
oldest of the texts is the Rig Veda, and while it is not possible to establish precise dates for each of the ancient texts, it is believed the collection
was completed by the end of the 2nd millennium BCE (Before Common Era).

There are four Indo-Aryan Vedas: the Rig Veda contains hymns about their mythology; the Sama Veda consists mainly of hymns about religious
rituals; the Yajur Veda contains instructions for religious rituals; and the Atharva Veda consists of spells against enemies, sorcerers, and diseases.
(Depending on the source consulted, these are spelled, for example, either Rig Veda or Rigveda.)

The Rig Veda is the largest and considered the most important of the collection, containing 1,028 hymns divided into 10 books called mandalas.
The verses of the Sam Veda are taken almost completely from the Rig Veda, but arranged differently so they may be chanted. The Yajur Veda is
divided into the White and Black halves and contains prose commentaries on how religious and sacrifices should be performed. The Atharva Veda
includes charms and magic incantations written in the style of folklore.

Each Veda was further divided in two sections: the Brahmanas, instructions for religious rituals, and the Samhitas, mantras or hymns in praise of
various deities. Modern linguists consider the metrical hymns of the Rigveda Samhita, the most ancient layer of text in the Vedas, to have been
composed by many authors over several centuries of oral tradition.

Although the focus of the Vedas is on the message rather than the messengers, such as Buddha or Jesus Christ in their respective religions, the
Vedic religion still held gods in high regard.

The Aryan pantheon of gods is described in great detail in the Rig Veda. However, the religious practices and deities are not uniformly consistent
in these sacred texts, probably because the Aryans themselves were not a homogenous group. While spreading through the Indian Subcontinent, it
is probable that their initial religious beliefs and practices were shaped by the absorption of local religious traditions.

According to the hymns of the Rig Veda, the most important deities were Agni, the god of Fire, intermediary between the gods and humans;



Indra, the god of Heavens and War, protector of the Aryans against their enemies; Surya, the Sun god; Vayu, the god of Wind; and Prthivi, the
goddess of Earth.

Sub questions

Question Number : 76 Question Id : 396136681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The Atharva Veda consists of:

Options :

1. * Instructions related to various sacrifice rituals.
2. ¥ Spells against enemies, sorcerers, and diseases.
3. ¥ Hymns about religious rituals.

4. ¥ Hymns about their mythology

Question Number : 77 Question Id : 396136682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statements is correct?
Options :

1. ® The Vedas were first transmitted in the written form.

2. % The main focus has always been on who originated these Vedas.
3. % The verses of the Rig Veda are taken from Sama Veda.

4. ¥ The focus of the Vedas is on the message rather than the messengers.

Question Number : 78 Question Id : 396136683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

All the given statements regarding Rig Veda is correct EXCEPT:

Options :

1. * It is not possible to establish the precise date of its origin.

2. % The Rig Veda is considered to be the most important collection of hymns.
3. % It is divided into the White and Black halves.

4. % Tt is divided into 10 books called mandalas.



Question Number : 79 Question Id : 396136684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

What is the synonym of the word-‘ancient’ as used in the passage?
Options :

1. * Juvenile

2. % Venerable

3. * Minor

4. % Unfamiliar

Question Number : 80 Question Id : 396136685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

What is the antonym of the word- ‘numerous’ as used in the passage?
Options :

1. * Inumerable

2. % Multifold

3. ¥ Few

4. #* Specific
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Question Number : 81 Question Id : 396136686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

SUHT 3ABR B T UgaH Biehl 67

Options :

1. % 9 og; 1G] IR BT M1 8

2. % g Teg T q TR IR T 3R IgbT 31ef st &Y
3. % 51 Ud Teg & U 9 3 3ref g

4. ¥ g1 SURY B G STAH Y B STt 8

Question Number : 81 Question Id : 396136686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



JUHT STHR B 1 UgaH Bl 62

Options :

1. % SId Xeq YAl aT D1 TR &l

2. % IR Teg U  31fee R 1Y 3R I 3 AT |l
3. % g U Weq & UH I 31 3 g
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Question Number : 82 Question Id : 396136687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

el 3= HY I1 IG1-9GIHR U BIdT &, Tg1 DI AT ATDR Bial 82
Options :

1. % AU

2. % 2P

3. % JAUE

4. A=t

Question Number : 82 Question Id : 396136687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

STET A HU T Il-TagThR gui 81T 7, I8 i IT 3B R BIdl 82
Options :

1. % 3V

2. % P

3. % Il

4. ¢ Sffa=ifad

Question Number : 83 Question Id : 396136688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

el B & Ude =RuT H e 7 g &



Options :
1.9 24
2. % 25
3. % 26
4. = 27

Question Number : 83 Question Id : 396136688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

I B¢ & YA RN H fohaT A gl 82
Options :

1. 24

2. % 25

3. % 26

4. % 27

Question Number : 84 Question Id : 396136689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

TEA-IRR TR H 15-15 3R GR-AY TROTH 13-13 AEM [ B¢ H gielt 82
Options :

1. % el

2. % GRAT

3. % 3Tl

4, % WY

Question Number : 84 Question Id : 396136689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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1. % el
2. % IRAT
3. ¢ Il
4. % IUY

Question Number : 85 Question Id : 396136690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

*fd yra @ ford 38 1 A gt g2
Options :

1. % DU

2. % divE

3. ¢ YR

4, % YD

Question Number : 85 Question Id : 396136690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

*fd yTa ¥ o <1 1 A gl 82
Options :

1. % o

2. % diyH

3. ¢ R

4, % HHD

Question Number : 86 Question Id : 396136691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. = 3Ud



2. % diHar
3. ¢ JUddl
4. % gl

Question Number : 86 Question Id : 396136691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

ute, $5f, 3, i ferar onfe & wRur g & § B-91 1id Iaa ST e
Options :

1. % 3Udl

2. % T

3. ¢ JUddl

4. % Sfgdl

Question Number : 87 Question Id : 396136692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
ST IT e FHRAT GeTar BT 37 Fm 82
Options :

1. % GEANT BT

2. % YIRGT AT

3. ¢ U HTH fYepTer

4. % ey &

Question Number : 87 Question Id : 396136692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 88 Question Id : 396136693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 1 Wrong Marks : 0.25
A Wreg &1 g & § vafaart o 781 32
Options :

1. % =

2. % el

3. ¢ YRIRYT

4. %

Question Number : 88 Question Id : 396136693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
N Xreg &1 e & § vafaare a1 78 32
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1. * f=m

2. % el

3. ¢ YIIRYT

4. %
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2. % Yad

3. #® x4



4. ¢ fa-id

Question Number : 89 Question Id : 396136694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Yy Ysq 1 [deT sq T T
Options :

1. %

2. % Ydd

3. % 9wid

4. ¢ foiid

Question Number : 90 Question Id : 396136695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

T8 Bl ST I UA HTA BT I A1 e 52
Options :

1. ¢ GH Hids

2. % HyTod Hid™

3. % giewy Hidw

4. % gdogrc Hidw

Question Number : 90 Question Id : 396136695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ I Hid™

2. % I HidH

3. ® gy Hidw

4. % gdeqye yids
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Question Number : 94 Question Id : 396136699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

S afT B BT 8, I8 U FRT & 39 H1 9 H J TR a9 HT I URST -1 12
Options :

1. % TTTT a9 Hdl g ofd Afad % d gidl §

2. % B B IR g fad Uty &1 8

3. ¢ 3 SIfad ULTdTY T §

4. % fad RIHS gdT & 3R fhR gyt #ar g

Question Number : 95 Question Id : 396136700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

YTeg 819 W el ieH ok 39 &1 g &  Igad d1e &1 IId UReY o1 g1
Options :

1. ¢ ey g3 3R el aie @il

2. % S g qAIGy g el e ol

3. % 9 QUied g ad el aam o

4. * i YAl gaMl ¢ gufad yeh ae- ol




Question Number : 95 Question Id : 396136700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Pieg 817 W yef siem o 39 &1 Y o  Igad a1e &1 IfId UReY o1 g1
Options :

1. ¥ ey g3 3R uelt aie @l

2. % SN § galGy g uaft i ol

3. % 9 quiey gof aq el e ot

4. % ifor QTG g3 § 3uerg uelt Sia- ol

Sub-Section Number : 2
Sub-Section Id : 39613641
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 396136701 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (96 to 100)
TS T o T § | IR O SR WR Uid Uy f3U U | IR &1 e9Tgddh U auT T UY & dR fadhed! H 9§ gl fadwed |
IIT, {9, TR 3R 3T P Ul bl G&H §10T ¢ | TRT & AT TUf F AR ARG 3R AFRIS WA BT 3THT- 3T dih] o aTH
feTdn & | SIeRTST I faa 1 39 33t Hall BT 3fG o & fog /I W1 5
N1 D1 BT BT oY T o o8 T A= 3T &1 RITgAT &1 foaR wemaEt of A9 |idh 3 uanfad fhar 71 39 Ugd & J1e9H ¥ YRA™
T w2l AR gdoll gRT AU U 39 3R IUGR ! YD H I dled U1 3511 RYdeR 2014 H GYard Y HSTHHT (JUAGIT) H ST HTHOT
& R U YT BT U1 T o7 | 31U TG Y o e & I ag it e féar ot fos i feaw 21 S &1 711 S AT Fiifes
g 9Y 1 gay a1 feT g |
JUASTT & &1 A Hic! gRT AU 7Y vRea R faaR-famst farar 3R iee 81 59 fort IeRiets Aol € €Y1 21 S 2015 &1 fad g

i T fegg & U H 7411 7| 39 T URA § Ue Yoa sl H maifSrd fsar wam ot WRd & uu w3t & Al oik &S o
TSI T3l 7 oIy TR I & 1Y g fe 77|
=g faT 3u & faftr fowdl & s 99 3R B anT frfaR ot smaford fpw 7w 91 59 ufas Salt &1 31 #3A & e & 3 9 Sen H 39
fRfaRY & fewa foram| 7 R yRa o sfcw 59 @Re & AR &1 o gar & o fewt & +ff foram am ik il 3 98 I8 ¥ 399 HIFT
foram| 99 § SIeRTET A fead 8% I1d 9gd ScTe & HAR™T ol & |

Sub questions




Question Number : 96 Question Id : 396136702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
U 7T Srufdd e o1 2N w1 g

Options :

1. % W WR & fau am
2. ¢ SRIPIY INT feay
3. % 8¢ o=l g AN
4. % B A 3R HA

Question Number : 97 Question Id : 396136703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Ugell RIS ANT f&ad el H1 T
Options :

1. % 21912014

2. % 2] AR 2015

3. % 21 IR 2015

4, % 21912015

Question Number : 98 Question Id : 396136704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

I Xeq HT Ya! JATIaTd! ek Famd |
Options :

1. % PHIfgal

2. ¥ 8N

3. % 3RIY

4. % B

Question Number : 99 Question Id : 396136705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

“YNT D1 Hell DT WY HAM & {e1T b (9=IY & 1 RITHI D1 SR Ig faaR fovg o1 Ur
Options :

1. % gdsll &l

2. ¢ T HA o T BT

3. % QNN &l

4. % faqRml &1

Question Number : 100 Question Id : 396136706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
HIdH it 7 TGerd Y HERIHT H UNT & Y19 D1 URATd e T U

Options :

1. % 2015
2. ¢ RideaR 2014
3. % fdaR 2015
4. % 2014

Question Id : 396136701 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (96 to 100)

TS TR T 7T 8 | TTRIRT & SR WR Ui U AU TN § | TRIi=T & S-ydes U 0T Ui Uy & aR fadbedl & 4 gl [dded g1
NT, T, TRR 3R 3T B Tehdl BT TeH §1d1 8 | AT & ffte 0 ¥ gUR AR 3R ATRI% WY &l 3{eT-3IeT dilh! 9 oTH
fretel g | SieRISTA T faad o1 59 St el 1 3MTHG - o fefT A ST g
TR D Hdl BT oY T P o7 T A=Y &7 & RITGAT &1 foaR gur=a3T i A9 Al A URdTfad fhar uT| 39 Ugd & A1eH ¥ HRA
T Hail GAR gaoll gRT AT T 39 3R IUGR D! YD H I dTed U1 I51- RAdeR 2014 H GYerd Y HSTHHT (JUASIT) H ST HTHOT
& TR 39 19 BT U4 1 1| 30 GG 1Y & Talled H 3514 ag Hft goa fean o o i faa™ 21 S &1 771 91 anfee it
g 9¥ 1 gay a1 feT g
YUASIY & St A AIel gRT fou T4 TRard W fIaR-fau=f faan oIk e € 39 for TeRes HuRl € €t 21 57 2015 o1 fo uga

i T e & U H 711 7| 39 T WRA H U Yo SRl A Smaiford fosar am ot HRd & Ue w3t & Al 8ik &3 3/
TSI HdTs{i 3 Iy IR I8 & 1Y g fe 7|
39 faT 301 & faftr fewdi & &3 99 3R B anT frfaR ot smaford foew 7w 1 39 ufad Far &7 31 34 & e < 2 9l Ten 39




fRfaRT & fowa feran| =1 Ridh URad & sfcn 59 @R o RIFGRT &1 st gian & s fowal & ot o T SiR ol A o' I8 ¥ 399 U
feram| ae & SiaRiSHa v faad &R A1el Sgd I8 & HAT Sl g |

Sub questions

Question Number : 96 Question Id : 396136702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
faU T Srufdd T &1 2N w1 g

Options :

1. % W IRR & faw am
2. ¥ RIS A feaw
3. % 8¢ SNl g AN
4. % B 3T 3R P

Question Number : 97 Question Id : 396136703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
UGl RIS AT [Gad el HHIT T2
Options :

1. % 21912014

2. % 21 AR 2015

3. % 21 3IRJ 2015

4.9 21912015

Question Number : 98 Question Id : 396136704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

“ITE” Veg H1 Tg! TaTuarl e FaTd |
Options :

1. % PIgal
2. g4
3. % 3R



4. % g4

Question Number : 99 Question Id : 396136705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

“GIT] b} Hefl BT STY HAM & o7t Uep fa=Iy {1 1t RITUHT 1 Wi I8 fa=R fobd o1 U1
Options :

1. % gdoll ol

2. ¢ T HA ot T BT

3. % QRN &l

4. * fagRmal &1

Question Number : 100 Question Id : 396136706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
HIdH Sff 7 TGerd Y HGRIHT H UNT & Y19 D1 URATd e T U1

Options :
1. %# 972015
2. ¢ RdeR 2014
3. % RydeR 2015
4. % 12014

Disciplinel
Group Number : 6
Group Id : 39613636
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20



Is this Group for Examiner? : No

Examiner permission : Cant View
Show Progress Bar? : No
Disciplinel
Section Id : 39613636
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 39613642
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 101 Question Id : 396136707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Tfgcaeaue TRar #:?

Options :
1 % HFHS

p. % JHAldegd S

VAR CECCIEE



TTTHA:

4. % 3

Question Number : 101 Question Id : 396136707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

gifgcaequren WA &7

Options :
| % HFHACS:

5 % HAeEaU:
3 g

TTTHA:

4. % 3

Question Number : 102 Question Id : 396136708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
ATfgcaeyunaroT 1 o AT Freaqg ?
Options :

|« weerdf wiEEt seun

, T THCHS FeTH



Question Number : 102 Question Id : 396136708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

HIMEISIUIERTT & ATH s ?
Options :

|« reerf wigat Fean

5 o TFT THCHS FITH
, y e ereerell TSR I F
, « TAohardwfaaEs: eeg: Fen

Question Number : 103 Question Id : 396136709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

‘Terareaterereary gardf s w0 @1 & giea: ?

Options :

| TETUTEC:



- SASAAG [

Question Number : 103 Question Id : 396136709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

‘Terareatarereary gardf sega @ # giea: ?

Options :

| % oT EISSE

- SASAAG [

Question Number : 104 Question Id : 396136710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
sreftegssrarar g FsfEa ?

Options :



W g
SAFAATH A TH

Question Number : 104 Question Id : 396136710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
sreftegssrarar g FsfEa ?
Options :

| o TEEREER
TeToTTISE T

2. %

. HfFrardficeor

3. =

W e 8
4 % CHSAISIISTIH

Question Number : 105 Question Id : 396136711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

AT &F o Hg#dd-lﬁ-"d ?



Options :

4« Heglshledl

Question Number : 105 Question Id : 396136711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Aoy & oee: ygFaAET 2

Options :

4, v HeCTshle

Question Number : 106 Question Id : 396136712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

TeT: ohet MO ?



Options :

| % FeSOT
FaY0T

2.4 2

3@9'&11“

4 % SCHON

Question Number : 106 Question Id : 396136712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

T&T: et MO ?

Options :

| % FeSOT

4 % SEHON

Question Number : 107 Question Id : 396136713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

H‘“uqﬁ Qmmﬁ‘mﬁg TRIAFIAT: F: ?



Options :

1 % :ﬁl‘El‘:

FaT:

2. % 2

s« AR

L T

Question Number : 107 Question Id : 396136713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

ATGT SIAAIdAY Jppaur: F: ?

Options :

1 % F=i3p

2. % 3

3 o m:

4 % BT

Question Number : 108 Question Id : 396136714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

AEET FEY FeIA ?



Options :
1 % HelehledH

AcdchehlcdH

2. z-'\s T

3 e dehlcdH

TUSFHITH
4. ¢ R

Question Number : 108 Question Id : 396136714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Aued Hreel FHedd ?

Options :

|« FEHEH

TGUSHTeTH
4. ¢ =l

Question Number : 109 Question Id : 396136715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
JaT: FAE ?

Options :



Question Number : 109 Question Id : 396136715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
TaT: FIE ?
Options :

HTFIATH

1. % =

5 % TEE
3.¢me-3m

IEECTA

4, % ~

Question Number : 110 Question Id : 396136716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
EoHieHEd I W & ?




Options :

v T
7 % Eﬁ'{:
3 % 21 rai

4 % hoUl

Question Number : 110 Question Id : 396136716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
A=ORCHET A W F: ?

Options :

1w L
) ® Eﬁ'{i
3 % RAed:

4. % 20T

Question Number : 111 Question Id : 396136717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
F: INRFAITA FaaTd
Options :




S

4 % THEATCED:

Question Number : 111 Question Id : 396136717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
F: INTAUTH Faard
Options :

l.v’a“ :

2. % THeC T
3, % GRASTEAUT:
4 % TESRATE:

Question Number : 112 Question Id : 396136718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
EIEGRGEE?] E?T’ & ?
Options :



4 % FCTeTeRT

Question Number : 112 Question Id : 396136718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
EIEGRGEE?] E?T’ & ?
Options :

| v JEEe:

Question Number : 113 Question Id : 396136719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A IR & 2

Options :



), % THOUT:
, x Ug

4. % T

Question Number : 113 Question Id : 396136719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

AT iR & 2
Options :

v T

). % THTUT:
3 % g

4. % Eﬁ'{:

Question Number : 114 Question Id : 396136720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

THT: FIEAA Fed IOTAET ?

Options :



IEFIEIGER]

)« FEEE
3 % EwmAESd
4 v AT

Question Number : 114 Question Id : 396136720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

AT HITH Fred FvaAET ?
Options :

lwﬁmdr_mmﬁ

)« TR
3 % TEwHEE
4 v AT

Question Number : 115 Question Id : 396136721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

AT AN FHorEd U &: AT ?



Options :

| % H:
) v &
3% &
4 % ST

Question Number : 115 Question Id : 396136721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
CHTAATTET AeEg U F: AT ?

Options :

1 % F=i3p

) v BH
s ow &
4 % ETH

Question Number : 116 Question Id : 396136722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Awelfrafa Hfa @@ gRTesTa ?




Options :
| % %<

) # %%
3 % X0

4. ¢

Question Number : 116 Question Id : 396136722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Awelaia Hfa @@ gTesTea ?

Options :
1 ® %¢

) # %%
3 % 0

4. ¢ R

Question Number : 117 Question Id : 396136723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A= aET I9cTATEd ?

Options :



| % THATIUH

5 AelFNdH

i
ATRUSTRIUTH

R

4. % 2

Question Number : 117 Question Id : 396136723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

AT TEaET 39T AET ?

Options :
1. % JTATIAUTH

, o FESRAH

[
ATRUSTRIUTH

R

4. % 2

Question Number : 118 Question Id : 396136724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

STSTIT Fid TR eFad: Hded ?
Options :




Question Number : 118 Question Id : 396136724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

HISTAT Fid TFRF: eTa1T: Hafed ?
Options :
1 ®% R

2. 3

Question Number : 119 Question Id : 396136725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

LY
TTHATATATHAET Tacdeh: &: 7
Options :

| % S ITEATA



), v THIH TTEA
3 % ol TTHATA

4 % TRfoT TTHATA

Question Number : 119 Question Id : 396136725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

L
TTHAATATAET Tacdeh: &: ?
Options :

| % SNPIF TATHATA
, AT IEAH
3 % ol TTHATA

4 % TRfoT TTHATA

Question Number : 120 Question Id : 396136726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
FEHIUT & 7

Options :

1 % 9



Question Number : 120 Question Id : 396136726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FEHIUN F: ?

Options :
1 % 9
H # ©h
3 0% o
4.9 8

Discipline2
Group Number : 7
Group Id : 39613637
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20



Is this Group for Examiner? : No

Examiner permission : Cant View
Show Progress Bar? : No
Discipline2
Section Id : 39613637
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 39613643
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 121 Question Id : 396136727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
FETATT: Fiarae: ?

Options :

1. % €

I

3 % %0



4. 8%

Question Number : 121 Question Id : 396136727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
SETATTA: Fiaraer: ?

Options :

L% <

) % 8

3 % %0

4.4 8%

Question Number : 122 Question Id : 396136728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Options :
1. % €

I
3. ¢ %0

4 % 2%



Question Number : 122 Question Id : 396136728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

TifecTequr &g 9i=oer: Tfea ?

Options :
1. % <

) ® %
3. ¢ %0

4 % 8%

Question Number : 123 Question Id : 396136729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A=OHICHED [Seue: &F: ?
Options :

1. % H=Ieced:

0. ® IEICE

3. = p

4. % a_:sl':

Question Number : 123 Question Id : 396136729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

A=OHIcHED [aeus: &: ?
Options :
| % H0Ged:

0. B IEICE
3. ﬁqf
4. % %_al"

Question Number : 124 Question Id : 396136730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Options :

| x o griaufeEeaE
2. G P
\ g&ar Frw CUREIFCE ]

4 % gli% . aa; 5ji§2|§a qi?EEFlIUIEIEIu'-IHI% QAT

Question Number : 124 Question Id : 396136730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
Options :

| & TAT: FfAICRaEd
), v THACHIGHC SR
3%%@;@:@?@@%

, « TfeafErafosrafAETaAT g

Question Number : 125 Question Id : 396136731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
ofoRreeEy ageieaas & w0H 2

Options :

| % FTOTICE

5 TOTITH
3‘3.53TUT=|(_'|'|-:|'

4_;531'UTC|F§|'

Question Number : 125 Question Id : 396136731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

oTferRree s aqeifFaTs % ®0A 2

Options :

| % FTOTICE

5 oI
3.3.53TUT:|{_'|'|_-5|'

4 % FTOTICH

Question Number : 126 Question Id : 396136732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Options :

| x SHACIEAET:

N BGEUCEE]
s x TAAGETT Hiewer

TT=aTEdt AT

4.4 &



Question Number : 126 Question Id : 396136732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
AErHATUTTS g A ?

Options :

| AT
), % AT
s« TAacrEaT Hieer

i v T

Question Number : 127 Question Id : 396136733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
FAATATATAE A G5 ohe, ?
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

| R wEEHETER

, TaATHESTA TR



. A T e

Question Number : 127 Question Id : 396136733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

TaAHTIAT AT g e ?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

| B mEaemeER

, HaATHEYTA TrEFgE!

3, R
. aﬁ'\q‘:‘lm:gﬁ

Question Number : 128 Question Id : 396136734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

T AT Foarisaas & I 2

Options :




i3

Question Number : 128 Question Id : 396136734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

=i eEET ToaFisaes & ®9H ?
Options :

| w T
) v T
3 % Tiet

4, % TSR

Question Number : 129 Question Id : 396136735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FHOT & FsEFa: 2

Options :



Question Number : 129 Question Id : 396136735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FHOT F AgEa: ?

Options :

l_uqt_gf

4 v T

Question Number : 130 Question Id : 396136736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
HeTAA FHIT - HT JAAT FieAeAd ?

Options :



4, % SCUEICHETI

Question Number : 130 Question Id : 396136736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
HETAA FHIT - HT JAT FieAeAd ?

Options :

| v &
5 % hIOT

3 % 3R
4w TSR

Question Number : 131 Question Id : 396136737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

TN FiTSer: ?

Options :



4, % TS

Question Number : 131 Question Id : 396136737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

HTATT: FHiATaer: ?

Options :

1. = j :

PR AREICLE

Question Number : 132 Question Id : 396136738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
TCARN: HIeHeAY FTI=TT ?

Options :



| % TTAEETATESTE
oraTsIeTef

3.J31?|?[&F!ﬁ§4ﬁfﬂﬁ
, w FEETES s

Question Number : 132 Question Id : 396136738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
ICAFR: FIEHeAYS TG T ?
Options :

| % THEETsESIEY
, o e

, . S s
, x FeeTde 8

Question Number : 133 Question Id : 396136739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



srran: IR FermEwTTs & w9 2
Options :

| % ¥

-

9 % 54#3

Question Number : 133 Question Id : 396136739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
srran: IR FermEwTTs & w9 2
Options :

| % ¥

-

9 % 54#3

Question Number : 134 Question Id : 396136740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



sTal: RTTer AR RS o A 2

Options :

Question Number : 134 Question Id : 396136740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

“ +
quTan: e AeTARRaT F §9A ?

Options :

Question Number : 135 Question Id : 396136741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

Tsag 2fY FiEAa TR

Options :

| % ®%

) ® o=
CES
3 % o~

sv B

Question Number : 135 Question Id : 396136741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

HTIsag T FiEAd T

Options :

% 9%

eld
K IR
3 % &=

sv B

Question Number : 136 Question Id : 396136742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
vereman: forfe & 97 2
Options :

| % TEd

) x TUd

3.« TP

4w O

Question Number : 136 Question Id : 396136742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
TyuTan: ffe & 9 2
Options :

1. = T
2. % S
3. v TUTSEHR

4 % AT

Question Number : 137 Question Id : 396136743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



TererTaT: MRNTAE & w2
Options :

| ® Tdd
) TeEsE

3 % QU

4, % CHIHATH

Question Number : 137 Question Id : 396136743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
vererar: 3mehfafE & w9g 2
Options :

| = Tdd
) v THEsT
3 % vuUd

4 % THIATH

Question Number : 138 Question Id : 396136744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Question Number : 138 Question Id : 396136744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
TNl Icerehi mﬂﬁgﬁﬁﬁgﬂﬂﬁ & w7 ?

Options :

| % TUH
) % TUY

3'@/?%??.7:?

g, % oA

Question Number : 139 Question Id : 396136745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



gruTdr: SCTeR AegaqRyeaad ?
Options :
| % &g

) % G&ad

s v o

4, % Gl

Question Number : 139 Question Id : 396136745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

bt
STeTar: FICas HETHITYha el ?

Options :
| % &g

) % Gad

3 v ST

4. % ocH

Question Number : 140 Question Id : 396136746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



YT FaYad & I ?
Options :
[ % dFaH

.

2. I

.

Question Number : 140 Question Id : 396136746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

geeTar: FYey F FIH 2
Options :
1. # TeFiH

.

2. ¢ I

.

Discipline3

Group Number : 8



Group Id : 39613638

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Examiner permission : Cant View

Show Progress Bar? : No
Discipline3

Section Id : 39613638

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 39613644

Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 141 Question Id : 396136747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
gied: 3c09 & Foacdd: ?

Options :




;% fd
Enl

Question Number : 141 Question Id : 396136747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
gIed: 3c09 & Fodedd: ?

Options :

| AT

-

)«

3% [

, % o

Question Number : 142 Question Id : 396136748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

TIeeAcadl HITHeY ST ?

Options :



R i

Question Number : 142 Question Id : 396136748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

AN [ — . .1?
Ugeedcadl HieHeAY Sad:
Options :

| v Fea
5 % AT

3 % oS

4%%‘

Question Number : 143 Question Id : 396136749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
oA AT & FodAcdd: ?

Options :



Question Number : 143 Question Id : 396136749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Hoed: AT & podAcdd: ?

Options :
| % HIAZ

2. % %

Question Number : 144 Question Id : 396136750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

ufSea: sca9 & greavcad: ?
Options :




Question Number : 144 Question Id : 396136750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

T &oT & dfeducad: ?
Options :
| % B

) W W

Question Number : 145 Question Id : 396136751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

SETH 50T & dredgedd: ?
Options :
1. ¥ =



Question Number : 145 Question Id : 396136751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

JETH 50T F: drEdgead: ?
Options :
1. ¥ =l

2b$||~.h

3. %

-

4. % A

Question Number : 146 Question Id : 396136752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
et ScOY & Jfagycad: ?
Options :
1. = 3

.



2_2»5 EI -
s % FOT

4 F7

Question Number : 146 Question Id : 396136752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
ZreRfY: scU¥ &: giEawcad: ?
Options :
1. % 3=

T

2.2;5 3' -
s % T

4 v ¥

Question Number : 147 Question Id : 396136753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
REEICIERI ?
Options :

a1y

1. % =



2. w T

v T
4 % T

Question Number : 147 Question Id : 396136753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
REKIGCERL ?
Options :

L% 3

v T
4w T

Question Number : 148 Question Id : 396136754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Ve Fia Terdm: ?
Options :

1 % &



Question Number : 148 Question Id : 396136754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

AR FE geram: ?

Options :
| % &

Question Number : 149 Question Id : 396136755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
HTegarsT Ry ?
Options :

HAHATAH

1. % -

qUHASTTH

2. %



v T

4. % fafdrsere:

Question Number : 149 Question Id : 396136755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
MTegaFT a2
Options :

HelHTAH

1. % =

. ® {14 ii;rq;x
v A

4 » TAfRrsere:

Question Number : 150 Question Id : 396136756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

TNFTL: TGT I AR FEY TAUTEAICTEIOTH 2
Options :

| w ACHEH

HelAlAH

2. w -



3.9 2 Ll

4% T

Question Number : 150 Question Id : 396136756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

TNHTA: ITT:" 8 AFT FET FHUTEDIEEIOH ?

Options :
1 ® AcU&TH

HeHATAH

2. ]

3.9 2 o

4 n T

Question Number : 151 Question Id : 396136757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
g 9TE T A FRUA
Options :

l_um
» % HTHATH



Question Number : 151 Question Id : 396136757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
g 9TE T A FRUA
Options :

l_um
» % HTHATH
; v FifCaH

4 % THATTEAATS

Question Number : 152 Question Id : 396136758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
THHSIE Hi UM [ ?
Options :

1 ® %¢

) # R0



3 #% <

4. ¥

Question Number : 152 Question Id : 396136758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
THASIE Fict M FreFar: ?
Options :

1. % 8¢

) # RO
3 # <

4. ¥

Question Number : 153 Question Id : 396136759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

[ =Y it 7
ATASUTCFeCaH e 0T T 7

Options :
1% AT

R AGICE

3 % eh[HeAT



4 % ST

Question Number : 153 Question Id : 396136759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

U e aaigsolar &l ?
=

Options :
1% ATl

» v Tafaer
5 % SRIHAT

4 % ST

Question Number : 154 Question Id : 396136760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
TRATeSagTeaaTey e & Fd ?
Options :

| % BICR:
9 % 3%31'3

3 o Bl



4. % e

Question Number : 154 Question Id : 396136760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
TTfeeedeleaareray faeare: & a2
Options :

| % 39eEr

Question Number : 155 Question Id : 396136761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
HdccadrsaaaT 99T ﬁ:ﬂ?q?r ?
Options :

1 % giomS:

) ® ICEaCE
3 v fEEe



4 % ETW:

Question Number : 155 Question Id : 396136761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Hdccadls=aaT JT =g ?
Options :

1. % qTOT=:

) % TR
3 v faEe

4 % €

Question Number : 156 Question Id : 396136762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

T ET 39AcTde: &: ?
Options :

me
, x DleeRaANEAYE
s FAREIERAEYE



4 v TS LA

Question Number : 156 Question Id : 396136762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

e Tedd RET ITATTL: &F: ?
Options :

| % TRl
)« DRSS
. TR
s TS

Question Number : 157 Question Id : 396136763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

fercgsaIor Fif 2

Options :

| % TARIE
5 v TEATEeEAG



4 % oleedd FhaaAmonie HaAIor

Question Number : 157 Question Id : 396136763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FegwaiT Fife 2

Options :

| x TR

o ™

)  FeeEeCAG

TIHTTAR =

3w [

4 % wereedd raamonia FATOr

Question Number : 158 Question Id : 396136764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
& s g avg 2

Options :

v SEH

2 ® Gﬂ‘q’:



;T

4 % AT

Question Number : 158 Question Id : 396136764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

& s facT avg 2
Options :
| v STH

0 Gﬁai
o T

4 % HIOT

Question Number : 159 Question Id : 396136765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
TETE FHid THUNA FEipdiie ?
Options :

1% R

2. 3

3 % ¥



Question Number : 159 Question Id : 396136765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
e FHia gamna wgare ?
Options :

1 ®% R

2. 3

Question Number : 160 Question Id : 396136766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FEUCHAET Tacdeh: & ?
Options :




Question Number : 160 Question Id : 396136766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

TIEICIAET Yacas: & ?
Options :

4 % ST
Discipline4
Group Number : 9
Group Id : 39613639
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Examiner permission : Cant View

Show Progress Bar? : No



Discipline4

Section Id : 39613639
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 39613645
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 161 Question Id : 396136767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

OTEIEI JATIwT hfafa 2

Options :

Question Number : 161 Question Id : 396136767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
ArEged saTawy fRfafa 2
Options :

| % HEI:

7 TeOcETd:
3, % T

4 % TeEdNa:

Question Number : 162 Question Id : 396136768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
BEIEAATANYT W Hiaraed ?

Options :

Question Number : 162 Question Id : 396136768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
HIEISIATTANTT §W Hiafaed ?

Options :

Question Number : 163 Question Id : 396136769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
HICICATTENUT F=ATIAT: 3eded: HROT e ?
Options :

1. % =2



Question Number : 163 Question Id : 396136769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
TIEICATERUT TeATIIAT: 3eedt: HROT 3 2

Options :

CIg

1. ® =

5 % AATeGITOT
s % FHATCEATOT

4, v FESPIT

Question Number : 164 Question Id : 396136770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

TS &id decalle 3Ws9nfeaea ?

Options :
1. 3G

) # <&
3 # <

4 %



Question Number : 164 Question Id : 396136770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

&GS Fig docdlie HSdea ?

Options :
1«

) # &
3 % <o

4 % R

Question Number : 165 Question Id : 396136771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

HATOEATT STTTFIT: & 7

Options :
| % STERTE:
). % TSN

3 % AlcEdTed:

4. v ATTESTHT

Question Number : 165 Question Id : 396136771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

- i
HHATACIIAET ST F: & 7

Options :

| x TR

) qﬁﬂﬁi
3 % dAlcEdTe:

4, v TTTEETHAT

Question Number : 166 Question Id : 396136772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
HAIeT: Hia e ?

Options :

.¢ R

Question Number : 166 Question Id : 396136772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



AT i e ?
Options :
1.¢ R

Question Number : 167 Question Id : 396136773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

TTETIdIT: JeaalTHia &g FUaH ?

Options :

3 o FATPIET

4 % THERTAfESET

Question Number : 167 Question Id : 396136773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

TEATIA T Tegaltaifa 5 Faaq ?




Options :

3 o FATPIET

4 % THERTAESET

Question Number : 168 Question Id : 396136774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

AATHHIET o & ?
Options :
|, % ST

, » AR
3 % ohigel:

4, % OIS

Question Number : 168 Question Id : 396136774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
FAATAEIET A@F: F: ?

Options :



Question Number : 169 Question Id : 396136775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
HOITETAFIET Hia HEn: ?
Options :

1 % 3

Question Number : 169 Question Id : 396136775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
TSI ET FHia #en: ?
Options :

1 #% 3



Question Number : 170 Question Id : 396136776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

TATIUT Fia oA Ffead ?

Options :

) o TR

3 ® 7>=] QITIIEHJL

L
, % SCIEEEH

Question Number : 170 Question Id : 396136776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

THTIUT FiT 9T Fied ?

Options :
1. % Fehold

T



> o TR

s % TTARICHERH

, % TISEEEA

Question Number : 171 Question Id : 396136777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FEATFINTT T[T & ?

Options :

1. & CIEILTN
L . R
3. % A

4, & BT

Question Number : 171 Question Id : 396136777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FEAHIET T & ?

Options :

1. & CIEILTY



.« FreafEm:
3. % 3'1%3

4, & BT

Question Number : 172 Question Id : 396136778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

JEcaTaEyg AT =1 7
Options :

| % TN

Z_JFF-EEFﬁ'

Question Number : 172 Question Id : 396136778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
ICITHET AT & 7

Options :

|« T



Question Number : 173 Question Id : 396136779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
JeTTAAE A 2

Options :

| e

.

) % TR {UTH
3 % ched-
4 % BTG

Question Number : 173 Question Id : 396136779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
JSTTANE A 2

Options :

I_Jﬁw

.



Z“W
3 % hed:

4, % TG

Question Number : 174 Question Id : 396136780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Jegrsany wror fFA 2
Options :

]‘;/ﬁmﬂ

0 ched.

Question Number : 174 Question Id : 396136780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Jersey woT FE 2
Options :

I.JﬁTE:lT



Question Number : 175 Question Id : 396136781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
TAgFATeaE 3ta FAUT F Rrefre 2

Options :

Question Number : 175 Question Id : 396136781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
TAgFATeaE 3ta FAUT F Rrefre 2

Options :



Question Number : 176 Question Id : 396136782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Ty sge Teard $ia dfewaT & e 2

Options :

4 v TS

Question Number : 176 Question Id : 396136782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

et age Tl sfy SR B A 2



Options :

4 v WSS

Question Number : 177 Question Id : 396136783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Ffa ATETIFE: S ?

Options :
| % 9=l

e

0 v TS
3. = HCc

4.243'1'@

Question Number : 177 Question Id : 396136783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Fia AETEFRT: S ?

Options :



114 ]

Question Number : 178 Question Id : 396136784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

TATHAT HTEATTET F&T0T & ?
Options :

1.U,,3-1'|T=I'El"f"-]'l?-|?:_|:

) ® oo Hel e H

IR

3. %

4 % OF: JEUH

Question Number : 178 Question Id : 396136784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

AMEHAT HTEATIET o1&70T ok ?
Options :




v AGALTAH

HeedHellad A

s % T

dH: FUTAH

Question Number : 179 Question Id : 396136785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Fid Feege{Ior 3¢ Siadier ?

Options :
. ¥

Question Number : 179 Question Id : 396136785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FTa HECHETUOT 3¢ Sedier ?

Options :
.V ¥



Question Number : 180 Question Id : 396136786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
R F T e gy 2

Options :
| % elc

-

<
& 3

a

b
o

Question Number : 180 Question Id : 396136786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
3¢ & TR RN 9= ?

Options :
| ® eld

-



2.
3v T
4% WIE
Discipline5
Group Number : 10
Group Id : 39613640
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No
Discipline5
Section Id : 39613640
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 39613646
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 181 Question Id : 396136787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
3ar g FET aran F9H ?
Options :

1 ®% 39

) % dq

3. v T

4 % 4=

Question Number : 181 Question Id : 396136787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Fara 3 FET aran F9H ?
Options :

| % 39

) % dq



3.0 T

4 % 9=l

Question Number : 182 Question Id : 396136788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
FHfer A HRION: FroFar: ?

Options :
R ]

Question Number : 182 Question Id : 396136788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Fiet AT RO FreFar: ?
Options :

IR ]

2.4 Y

3 % &



Question Number : 183 Question Id : 396136789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
i STROM ?
3
Options :
1 % 9%

) # %8
3 & 9¢
4, % R0

Question Number : 183 Question Id : 396136789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Hid TR ?
e
Options :
1 % ¥

) % %k
3.9 8¢

4. % 0



Question Number : 184 Question Id : 396136790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
HFSTET JEele s d 9 &:7

Options :

4 IERIECE

Question Number : 184 Question Id : 396136790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
HFASAET FEleHd I 17

Options :



Question Number : 185 Question Id : 396136791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FHOTEROT FTd AT ?
Options :
1 #% 3

Question Number : 185 Question Id : 396136791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

TR0 FTad HgIIAT: ?
Options :
1 % 3



Question Number : 186 Question Id : 396136792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
SISAHEHRY F: TaHaLH: ?

Options :

Question Number : 186 Question Id : 396136792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

SISAFTHNY & FeaATEHN: ?
Options :



Question Number : 187 Question Id : 396136793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
FIEAA 0T Tewvey qherorfafen seaa 2

Options :

Question Number : 187 Question Id : 396136793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
FHIEAA Q0T TAEd qdeforafe: seaa ?

Options :



TSSO

4. 3

Question Number : 188 Question Id : 396136794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
TRRHED A A R 2

Options :

4. % SIERE

Question Number : 188 Question Id : 396136794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
TRRHED A A R 2

Options :



4. % QT%H:

Question Number : 189 Question Id : 396136795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

: ?
h: EJOHATH Scd=dd -
Options :

, v GEHSHIETATE:

, % TeEHSSHI AT

Question Number : 189 Question Id : 396136795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

%' &THHATH Fcg=dd ?
Options :



; v CITHSHIedATE:

4 % TeSHSSHIed AT

Question Number : 190 Question Id : 396136796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

TSN TATET Fedl & ?

Options :

Question Number : 190 Question Id : 396136796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

eI AvET Fear & ?

S

Options :



, % SUEHATRET:
, « HEHE:

Question Number : 191 Question Id : 396136797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
SeAFUSIT Hi HET: Hafed ?
Options :

1« 82

) % ¥
3 % 9§

4. % %<

Question Number : 191 Question Id : 396136797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
SeAFUST i #E: Hafed ?
Options :

1.« %R

) # %Y

3 % %%



4 % 8¢

Question Number : 192 Question Id : 396136798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Hid TR STl ?
Options :
1% 9

) # %R
3 « <o

4 %

Question Number : 192 Question Id : 396136798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Ffa AR TTed ?
Options :

| % 9

) #® 8

3« s

4 %



Question Number : 193 Question Id : 396136799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

AR IAAGIFRY Fia Tom: wieg ?
Options :
1 % %<

) % %%
3 % X0

4. B

Question Number : 193 Question Id : 396136799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

AR TAHETFR D Fid T Aled ?
Options :
1. % 8¢

) # %%
3 # R0

4.« %

Question Number : 194 Question Id : 396136800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

AR AgEeY gyAge & vigafsa 2

Options :

]. v Hidlaled

. % TURI:

EUREIGRIEIE

3 = =

4 % HAFL

Question Number : 194 Question Id : 396136800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

TSRS EAAgFREY TUATeT & ItaafeT ?

Options :
| v Hidhales
IREICarcE
2. P
P EIG EAELR

3w =

4 % TEIAFL

Question Number : 195 Question Id : 396136801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

STeTeh: FH RAATSAT ?
Options :

o SIASSH

l. -

MECLCIE D
3, v dleeed

4, x FEEH

Question Number : 195 Question Id : 396136801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FqF: FH RIVATSTT ?
Options :

o TIISSH

1. -
5w TERETETH
s v TdEEH

4, x FETTSTH

Question Number : 196 Question Id : 396136802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

HRET: AT WG JoAAT ol AT ?
Options :

1w LT
> % TIeHEOAT

3.@./#'(_{5”

4 A

Question Number : 196 Question Id : 396136802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

AR FAT W AT FaT HRTergIered ?
Options :

1w T
> % TIeHEOAT

3_4@7‘@”

4 % BT

Question Number : 197 Question Id : 396136803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



FArrdr Feoren gfaaAr @1 ARfeer 2
Options :
|« Al

) % TG

s w TOdTHED

e

Question Number : 197 Question Id : 396136803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
AR Feoren gfaar & TR 2
Options :

1. v HIdr

) % TEI
s % TACTHET

L emE

Question Number : 198 Question Id : 396136804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Aol & w=aae 2
Options :
1. ¢ ETHTIIS:

Teelellel T

2. ®

3. % TITeor =SdTS!
4 % TG

Question Number : 198 Question Id : 396136804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
R & =g, 2
Options :

1 & STHNIE:

Teelellel T

2. ®

3. % TEeES)
4, % TSIRHAT

Question Number : 199 Question Id : 396136805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



FEaAT: TUHAS FEAT: AT JUHAET ?

Options :

| w Tafcer
5w IS

3.¢ =2

g, % F7HACH

Question Number : 199 Question Id : 396136805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

HRITEaT: TUHYAS FEIT: J9ET: JUTHET ?

Options :

| % Tafeem
) % A

3.4 =2

4, % F7HeCH

Question Number : 200 Question Id : 396136806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



TR A TAHGIRTTT 3T T2 F: ?
Options :

| v STeHIHIHATIUH,

5w HAHACIATIOTH

. TETATASSH

3. =

4 % STEUTCHITHATIUH

Question Number : 200 Question Id : 396136806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

AT IATAAEFATT ITAAl T=: F: ?
Options :

“,m

) % HIAeGITATIUTH

o TETTSSH

3. =

4 % STEUTCHITHATIUH

Discipline6
Group Number : 11



Group Id : 39613641

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Examiner permission : Cant View

Show Progress Bar? : No
Discipline6

Section Id : 39613641

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 39613647

Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 201 Question Id : 396136807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

SUTEATAHI oIl ohed Ta=IaT ?
Options :




1 ® H'ﬁrl{ld{ﬁ\rﬁmw
T ATol- HI T

3 % HrURETERRGUTRIOT

4 v TTEEaTsI T S1

Question Number : 201 Question Id : 396136807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

IUTEATA AT T &ed E=Er ?
Options :

| % HTESSea HAI0T

Tl Tl - 3T

2. %

3 % SrUTHTERIGUR]

4 v TUEeH AT ST

Question Number : 202 Question Id : 396136808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

SUTEATA A olhrAT FHia IUTETAT T Tfed ?

Options :




Question Number : 202 Question Id : 396136808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

IYTEATT RIS Fiad IEa= =g ?

Options :
. ¥

Question Number : 203 Question Id : 396136809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

SUTEITAAT T HITq FeTH ?
Options :

| w TiceaH




, v TTCTEHEAH

Question Number : 203 Question Id : 396136809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

SUTEUTAAT T hIg FedH ?
Options :

4‘J?IEEEIWE€IT[

Question Number : 204 Question Id : 396136810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

EIEEIRIES G E i PR Cor= 10T g
Options :

1 ® ICCIE




Question Number : 204 Question Id : 396136810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
AT FearEn: 17 e ?

Options :

1 ® ﬁ#:

2. ﬁ?ﬁi
3 Tl

O EmE

Question Number : 205 Question Id : 396136811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
AR F= Eema ?

Options :

| % TeeTerg e



5 % STHAGY
3 v FEEG
L% STeUSaa

Question Number : 205 Question Id : 396136811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
AR F= Eema ?

Options :

| TegETEER
), % FHACY
3 v WIS
4 % TS

Question Number : 206 Question Id : 396136812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

HfAATFeTTERREY TyATYeRor & IaaEd ?

Options :




| % FIETRRUMARIUH

o PICHCI&TUTH

s x PIEIITASAH

4 % SICTHET

Question Number : 206 Question Id : 396136812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

HfPTTReaTEEEREY FuAeor B aftanfEa 2

Options :

% FTCTRIUTTARTOTH

5  TPICHEETUTH

s x PIEIITASAH

4 % SPICTHACT:

Question Number : 207 Question Id : 396136813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

HAATRIATTGHRIATENT foF AT Fegd ?

Options :



| T FH FOH
, » DA AR

N

.
STehTelehlccta HTIedH

Fa: IiaeT FedH

Question Number : 207 Question Id : 396136813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

HAATHATTSHRIITERT & AH Fegd ?

Options :

LY L
| x A FH FEIH
, % OecluE HIUH
3JWW

, % T AT FETH

Question Number : 208 Question Id : 396136814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

gegd Fia 3znia aafea ?



Options :
| % &

Question Number : 208 Question Id : 396136814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

gtegdls Fia 3w Hafeg ?

Options :
1 % &

Question Number : 209 Question Id : 396136815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

TET=IRHIET Jacde: & ?
Options :



5 HATAT:
3 % m_\qﬁi

,  PICHTIES:

Question Number : 209 Question Id : 396136815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

INTEIRAIGET Jacd: &: ?
Options :
FHTTT:

1, % =2

) v HITAT:
3 ElIDPro=F

=h|ru|-uu-|“|'g:~4:

Question Number : 210 Question Id : 396136816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

digee Ffaq HATT ?

Options :



| v SOT

5 % TcAmY

3. % 934
uc

Question Number : 210 Question Id : 396136816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

stegdls &g FAOT 2

Options :

| v O

Question Number : 211 Question Id : 396136817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

RS 3T FET: e 2
Options :



4 % ST

Question Number : 211 Question Id : 396136817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

I 359 FEIT HNET: ?

Options :
1. = i
2. % e

3w 968

4 % ST

Question Number : 212 Question Id : 396136818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

fe=dremurar Ffy Tagaom: a@fFg 2




Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1. %°

7 §%
3. ¢%

4, %3

Question Number : 212 Question Id : 396136818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

fecramrar i TaEem: @0 g ?

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1. 9

) ¢
3 §%

4. %%



Question Number : 213 Question Id : 396136819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
FHATAIT: &7 R ?
Options :

| SHASHIFHIG:

Question Number : 213 Question Id : 396136819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
FHTA T el &= ?
Options :
v FAUATHIIHE

1

5 % TEREIH:

3 % {IHﬂrﬁﬂﬂ'H+

4 % FHAAS:



Question Number : 214 Question Id : 396136820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

e T sueara & RaE ?
Options :

1 % mw

, ATATHIHIG:

3 v SHETES:

4 % TIGT BTl

Question Number : 214 Question Id : 396136820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

e T 3T & WRaE ?
Options :

1. % Wm

. TIUSHIIHIG:

3 FHAES:
4 % TET WITel



Question Number : 215 Question Id : 396136821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

AT T TS Hafa ?
Options :
HEFT

1. % 2

, % RET
3‘@;%?"?%%?@

4 % TSI

Question Number : 215 Question Id : 396136821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

HTST HET T #7397 ?
Options :
HEET

%3

, % WRET
3‘Jﬁm

4 % TSIIAT:



Question Number : 216 Question Id : 396136822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
TSTereS, F T ?
Options :

v Y

)« 8T

3 #% AT

4 % ST

Question Number : 216 Question Id : 396136822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
sTSTereS @ T ?

Options :

v 3

9T
3 #% AT

4 % ¥

Question Number : 217 Question Id : 396136823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

SfeeaTpa Hia TaT: T ?

Options :
1 % ¥C

) % ¥%
3 % 4o

4. R

Question Number : 217 Question Id : 396136823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

dferarpa Fa = FHTET ?

Options :
1 % ¥

) # ¥%
3 ® 4o

4. ¢ R

Question Number : 218 Question Id : 396136824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



eafel: gHEoT FHidafde: ?
Options :

| o TS

Question Number : 218 Question Id : 396136824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
eafel: JHEU HidtEe ?
Options :

| o St

Question Number : 219 Question Id : 396136825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

HE ST AT HNT] =0T Sdear &2 ?

Options :
. ERE

7 o ol
3 % 9
4 % 9

Question Number : 219 Question Id : 396136825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

HE ST AT HNT] =0T Sdear &2 ?

Options :
. ERE

7 o ol
3 % 9

§<

4, % %

Question Number : 220 Question Id : 396136826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



TS ATATTHILOT &F a7 =2
Options :

| % HTdeeafa
R ID A ICE
2.¢ 3

Question Number : 220 Question Id : 396136826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
TTRATATERT fF 73 w=fas:?
Options :

| % Hadeweafa:
R IDEATIEE
2.4 3

Discipline7



Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Examiner permission :
Show Progress Bar? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Question Number : 221 Question Id : 396136827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :

12
39613642
0

0

No

No

0

20

No

Cant View
No

Discipline?7

39613642
1

Online
Mandatory
20

20

20

Yes

0

1
39613648
Yes

null

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

T ET Ffa s s59eg 2




Options :
. ¢ R

Question Number : 221 Question Id : 396136827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

I EcaaTT Fia FRUNE d3fea ?

Options :
1.¢ R

Question Number : 222 Question Id : 396136828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

tFfaTRacass TFpd egae: 3R afeasmmar & safa 2
Options :

1 ® 3T



2. %

3 % 3

4. % FI

Question Number : 222 Question Id : 396136828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

tFfaTRacass TFpd egae: 3R afeasmmar & safa 2
Options :

1 ® 3T

2. %

3 % 3

4 % 3

Question Number : 223 Question Id : 396136829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

HEITAGIUEUET HeTAUTcdd Tdcdd e (a5 ?
Options :

|« FrEfamas



) THAATATAA
3 % SRIATHA

S

[
4 % dlivicdladHe

Question Number : 223 Question Id : 396136829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

HEITAGIUEUET HeTAVTcdd Tdcde el [oa8e ?
Options :

| » RaETTEe
) THAATATAA
3 % SRIATHA

S

[
4 % dlivicdladHe

Question Number : 224 Question Id : 396136830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
AT #fa A =TT ?
Options :

R



Question Number : 224 Question Id : 396136830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
AEAd: Fid ST ?

Options :

| % ¥

2.4 Y

Question Number : 225 Question Id : 396136831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
9g Hiaraus ?

Options :

1 % 3

2.4 ¥



Question Number : 225 Question Id : 396136831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Ug Higraud ?

Options :

1 % 3

Question Number : 226 Question Id : 396136832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FEHAATIET: FHieT IO 2

Options :

| w &

2. v FT:

3. % Acdl:



Question Number : 226 Question Id : 396136832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

HEPIATIIAT: Hiar T ?

Options :

xS

2. v FT:
3. % HcdN

4 % T

Question Number : 227 Question Id : 396136833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
AT ATATTAROT T FiA e 2

Options :

% ¥



Question Number : 227 Question Id : 396136833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
AT ATATTAROT T FiA e 2

Options :

R ]

Question Number : 228 Question Id : 396136834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
TIATUIRUT ST SFiafaed ?

Options :



Question Number : 228 Question Id : 396136834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
TIATIRUT T Fiaaasd ?

Options :

Question Number : 229 Question Id : 396136835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
HATSEAT Egfed: Hiafaer ?

Options :

1. = j

2.Jﬁ|ﬁ'ﬂT




Question Number : 229 Question Id : 396136835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
HITSET eMcgied: Hiafaer ?

Options :

1. ® j

Q‘Jﬁﬁm

Question Number : 230 Question Id : 396136836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
WmsEes i amaiEr: fegea ?
[ o~ e i

Options :
[

) # 8
3.« 80

4 % 2%



Question Number : 230 Question Id : 396136836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
R ST IR ?
T @0 &id IECUC

Options :
1L # <

) # 9
3. ¢ %0

4 % 2%

Question Number : 231 Question Id : 396136837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
TTHITYT SR RER #Ea 797 s=fy 2

Options :
| v AT



Question Number : 231 Question Id : 396136837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
TEHAAT FRIFIRER FEAe I a3y ?

Options :
| v AT

Question Number : 232 Question Id : 396136838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
JoreAlcHe STUIMET &t faXfoas 2
Options :

| % . FcOHTHIH]

) % SO - C AT CL

=T ﬁ?raaa?gam-‘#r

4 » F1. ASTECEATER



Question Number : 232 Question Id : 396136838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
JelelTcHeh STTSTRITES &het faRferas 2
Options :

| % ET. FcOHTHTH]

5 BT HOeeIefaed

=T 'l"‘c‘rsaaa?gam-‘é‘r

4, v 1. AETECTATE

Question Number : 233 Question Id : 396136839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FTEAToreaT fg 3eRIOT HTEe, ?

Options :
1« ¥%

) # ¥R
3 % ¥3

4 % ¥Y



Question Number : 233 Question Id : 396136839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FTEAToreaT fg 3eRIOT HTEe, ?

Options :
1« ¥%

) # ¥R
3 % ¥3

4 % ¥Y

Question Number : 234 Question Id : 396136840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
TrRaEr A e o 3gar ?

Options :



Question Number : 234 Question Id : 396136840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
TRaEr A wan o 3gar ?

Options :

PRV IECUCISE

Question Number : 235 Question Id : 396136841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
AT 3T dEaRR: s o Befag waa 2
Options :

1. & Eﬁﬁaﬁ'3



Question Number : 235 Question Id : 396136841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
AR 3tET JAafaf: FEm o Bwfag s 2
Options :

1. ¥ ?ﬂﬁﬁlﬁ:

Question Number : 236 Question Id : 396136842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

fraeTeT == A 2

Options :
ore]

1. % =

3, % 3ES:

4 @ FUS:



Question Number : 236 Question Id : 396136842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

e F=aRuTE R 2
Options :
drel

1. % =

3. % 3ES:

4 @ FUS:

Question Number : 237 Question Id : 396136843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

. .~
gisd gT OIS H W | T FEpAeEE:
Options :
| x OIS 37T T

o % UTEd: 37T 997
s UTEEaH 39 997

4% T 3T TRUG



Question Number : 237 Question Id : 396136843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

g5 gT IS F T | I FEpAEE: 7
Options :

| x YT 37T TF

) % UTEd: 39T 997
s v ITEaH 3T 997

U 32T ITg
4, % 2

Question Number : 238 Question Id : 396136844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

HFEHACT T g TAISTAT e TEorarieT ?

Options :

1 % ¥



Question Number : 238 Question Id : 396136844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

HFASA FIEOET Fid TS I=oatT ?

Options :

1 % ¥

Question Number : 239 Question Id : 396136845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
TTEAT: FEASNSET AU & Tl ?
Options :

|« ISR

TETTdH

2. %

, v SHETATIA

ES -

, « FOTEETESH

-



Question Number : 239 Question Id : 396136845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
FFAT: FAEHETT YR F FEeia ?
Options :

| % freamde

TETTIH

2. %

, v SHETATIH

S -

-

4« FOTEETSH

Question Number : 240 Question Id : 396136846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FEATFHTATET TR eTHET &F a7 72
Options :

| w YSRITFAATIOTH

5 THEIRASIUTH

TUTET R AR OTH,

) v FIEOTTRI AR



Question Number : 240 Question Id : 396136846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
FIEATHIUTT TUHCTET & A ?

Options :

| x YSCATFAATIUH

5 THEIRIARIUTH

f
d‘:I‘UIH'{"'-'-'IIrHﬂHUIHH

4 FIEOTTRI AR

Discipline8
Group Number : 13
Group Id : 39613643
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No



Discipline8

Section Id : 39613643
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 39613649
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 241 Question Id : 396136847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

AFAT: FIAET FHidAG HSMRUTT ?

Options :

1. 3

Question Number : 241 Question Id : 396136847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



AFAT: FHeOE Hiaae JFRd ?

Options :
. 3

Question Number : 242 Question Id : 396136848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FTAIFTY Fia FuTagwrT: giaufean: ?

Options :
1 ® 9t

) # 8¢
3.¢ &S

4 % &Y

Question Number : 242 Question Id : 396136848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FEATRY Fia TSR Figurear: 2

Options :



Question Number : 243 Question Id : 396136849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

e aTelleh HETMT: el ATFAT ST ?
Options :

| v 3T
) # mﬁ'i

3 ﬁ'ﬂm:

Question Number : 243 Question Id : 396136849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

CTATelleh CUTAT: Shel AT ST TedT: ?
Options :




Question Number : 244 Question Id : 396136850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
eF: ATsERAerEg e F ?
Options :

| % SfEraTA:
5 % TIETUTRITeR:
3 v TEAATET:

4 % IR FIETE

Question Number : 244 Question Id : 396136850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
eae: ATERaeegeled: # 7

Options :



| w HfFaTerfEa:
5 % oTeuTeIea:
3 v TSI

4. % HTFq'ﬂ'QIﬁH

Question Number : 245 Question Id : 396136851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Ffaf@ge=aeaa: 39T a7 Fafeg 2

Options :

SUTTHe A [
v A

1

cﬂMﬁlﬂiﬁﬁﬁi

HiFremHaeea=:

3. = ™~

L ot
4 % derildiHE'dlﬂi

Question Number : 245 Question Id : 396136851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Hatege=geaa: 397 717 FafEg 2

Options :




L NIBERCIGE
™,

1. ¥

chﬁlﬂmﬁﬁ'z

AT o

4. % A

Question Number : 246 Question Id : 396136852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

eFTelleh Shid 3edldan: Fied ?
Options :
. ¥

Question Number : 246 Question Id : 396136852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Y l e [ ——
Ededleller ehld SCHIAl: Hied ?
Options :



Question Number : 247 Question Id : 396136853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

e ATHETT: SUEIUTET F Ao 9iEr safa 2
Options :

| % THATEEEA

), % TS

s % YECIEATAS

4 v TRIEEETaA

Question Number : 247 Question Id : 396136853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A e OoET &7 fOEeaa afiar s=gfa 2
Options :

| % TATHEETed




), % TS

s % YECIEATAS

4 v TRIEEETaA

Question Number : 248 Question Id : 396136854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FHISTTEHTIT ﬂgﬂfwﬂ@ = FoaatET 2
Options :

M S ECar Py

1. -

) v AT

y % PICHEIEIH

, » THEEEAH

Question Number : 248 Question Id : 396136854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FHISTTEHTIT ﬂgﬂfwﬂ@ = FoaatET 2
Options :

M S ECar Py

1. -




2 G’ﬁ"lﬁwz

s % PICOTIEIH

4« TEEETAH

Question Number : 249 Question Id : 396136855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
TATFN JET: & F: ?
Options :

| x LT
7 % eh2Ul:
;% U

4 v AT

Question Number : 249 Question Id : 396136855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

THIFN qET: W &F: ?

Options :

| x LT



). % THOUT:
5 % U

4 T

Question Number : 250 Question Id : 396136856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
ATCSH ATTH: FT A ?
Options :

|, v dRIETe:

) % URTRMed:

3, % R

4, % HTYNUT:

Question Number : 250 Question Id : 396136856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
AT ATTE: FYU AT ?
Options :




) IILAT=:

3, % U

4 % HIHUT:

Question Number : 251 Question Id : 396136857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
B33 wurerg w9 sAq 2
Options :

Question Number : 251 Question Id : 396136857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
B33 g &9 saq 2
Options :

o CilTehensT

1.



Question Number : 252 Question Id : 396136858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
AlCeh Hid Hedd! §HTed ?
Options :

A

Question Number : 252 Question Id : 396136858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Alced Fig Teudl safeg ?
Options :
1 % ¥

2.4 Y



Question Number : 253 Question Id : 396136859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

AT s & ?

Options :

3« STHATET:

4 % HFHA

Question Number : 253 Question Id : 396136859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

T e & ?

Options :



3« STHATET:

4. % HFHI

Question Number : 254 Question Id : 396136860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FITHTHET e Tof=ar ?

Options :

| x S

5 % HTHE:
3. v TSGR

4 % TTHA:

Question Number : 254 Question Id : 396136860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FETHTHATET &hed JT=Ear ?

Options :

| I

) w HIHE:



3 TTGER:

4 % ITHE:

Question Number : 255 Question Id : 396136861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

CTOTATRET ol ETahT ohed TaIf=rar ?

Options :

| BHeE:

o, % HId:

Question Number : 255 Question Id : 396136861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

CTOTATRET ol ETahT ohed TaIf=rar ?

Options :

| BHeE:

o, % HId:



Question Number : 256 Question Id : 396136862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

ThIFdAaaH Sca&d War &: ?

Options :

|, % HeeEEdeT:
) # HFHC

3 ZTOF

4 % GTOSUSTSTeeTe:

Question Number : 256 Question Id : 396136862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FHIfFa=add Sca&d [ aar & 7

Options :

1. % HAegadeT:

) #® HEFHCE



4 % GTOSRISAATeAT:

Question Number : 257 Question Id : 396136863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FTAEFISIET TETF: & ?
Options :

Question Number : 257 Question Id : 396136863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FTAEFISTET FEITI: & ?
Options :
1 % HFHS

5 v HAegade:



S RCLCLIEE

, w HTHE:

Question Number : 258 Question Id : 396136864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

AFemREE=T 5 e 2

Options :
I RCLCCIVE

) # HEFHC:

checch-

3. 0% 2

4J m:

Question Number : 258 Question Id : 396136864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

AFemREE=T 5 e 2

Options :
I RCLCCIVE

) # HEFHC:



checlch:

3.0% 2

4\‘;' m:

Question Number : 259 Question Id : 396136865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

=Y e F=omm gfea ?

Options :

I
2.9 ¢
3.% 8
4. % %0

Question Number : 259 Question Id : 396136865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

=R e =omm gfea 2

Options :

1 % b
2.9 <

3 % %



4, % %9

Question Number : 260 Question Id : 396136866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
RFAREIRT F: A, 2

Options :

Question Number : 260 Question Id : 396136866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

RFARI NS &F: e, ?

Options :



Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Examiner permission :
Show Progress Bar? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Discipline9

14
39613644
0

0

No

No

0

20

No

Cant View
No

Discipline9

39613644
1

Online
Mandatory
20

20

20

Yes

0

1
39613650
Yes

null



Question Number : 261 Question Id : 396136867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

IMeredr &7 fatf=ar ?

Options :

1. ® fregamd=
0 ® AFAS
3. % ST

4 SETeATI

Question Number : 261 Question Id : 396136867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

IMARLT el F=rar ?

Options :

| % TEeEETRe



Question Number : 262 Question Id : 396136868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
TS AfeaaTeT #: 2

Options :

I RCTE
) IH:
3 % Qe

4 HTAFOT:

Question Number : 262 Question Id : 396136868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
TG Hiear =T F: 7

Options :

| w e
) x IH:

3 % QR

4 HTATOT:



Question Number : 263 Question Id : 396136869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

TS H 5fa Aes et =ag 2

Options :

1 % TAIGIOT

IO

2. % 3

Has T

3. =

4 v TS

Question Number : 263 Question Id : 396136869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

THAUUSH Sfa Aes el Aa=aH ?

Options :

1. % TAELOT




Question Number : 264 Question Id : 396136870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

ITUEEH st Aed w9 =aw ?

Options :

| Shgsor
) TAGLOT

HasfeT

3. =

FTTLOT

4.9 %3

Question Number : 264 Question Id : 396136870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

bl S =
ITEEEH st Aed w9 =an ?

Options :

| w Shgdor
2 % TATLOT

Has =T

3. %



Ao

4.9 %3

Question Number : 265 Question Id : 396136871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Y I ,?
Ht:',ﬂ'rgﬂl Tl ﬁ{lgil...ﬁ?ﬁli%ﬂiiaﬂ_‘ .

Options :

| w SEeEm

) v BHE
3. % GHIeIT:

4w SFEGATT

Question Number : 265 Question Id : 396136871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
2 A FEOFdTH ?
Hqﬁh";j'ﬂl o] x:t'HIE'JHI... i

Options :

| % SNEEET

2. eHH

3. % GHAT:



4 % SFEGATT

Question Number : 266 Question Id : 396136872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Al anfees & oo ygFan ?

Options :

| THedTdeRH
). % HTCH

3. v SIS

4 % Heglshledl

Question Number : 266 Question Id : 396136872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Al afees & oo ygFad ?

Options :

| % THeAIRH
). % HTCH

3 v 3T



4 % Tl

Question Number : 267 Question Id : 396136873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

AvfTaia Hia: THREFAET §E 0T FE AT aU Fadre, ?

Options :
|, % cHTR{UTEY

7 % cdldRIEAEY

3 % FATATAETLIEET

4. o cdeARllEHE

Question Number : 267 Question Id : 396136873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Avefala Fia THREFAEIT TE 30Ty T A U Faar ?
Options :
| % SUTHIOTET

7w edldRAIEASH

3 % mm



4« deARITESH

Question Number : 268 Question Id : 396136874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
FEFa FET T ?

Options :

llwmr:ﬁm

, % TeRMISET

AchdTHET

3. =

4 v TTECERIATE YT

Question Number : 268 Question Id : 396136874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
FEFaL FET T ?
Options :




4 v TECERIS R

Question Number : 269 Question Id : 396136875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FIEFILT Far dear =ar 2
Options :

| v ST

) » st

3. % © él

4_w?ﬁ§1

Question Number : 269 Question Id : 396136875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FIEEaT Har ear T=Er ?
Options :

1. IESIE

2. % IEE

3_@5(_4'@'



L T

Question Number : 270 Question Id : 396136876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

STHICcATed Feduedhdl: @I & HET ?
Options :

| x YETRRATR:
0. % I=dTgs:
s v FHE

4% TOT

Question Number : 270 Question Id : 396136876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
STHaCcdTATES FHecTdhar: ST F: 3T ?
Options :

| x TFERAER:

ISR CICTE

3. v HPIG



4 % T

Question Number : 271 Question Id : 396136877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

T4 FET ToaAl HTHI A ?

Options :

| ST ERET

7 % HblqEH

3w USAdlga&d

4, v TEIHOT

Question Number : 271 Question Id : 396136877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
T=TH: FET ToaA! HTEHIT ?

Options :

| ST G

) % HAleqTd

3 % USAAGAEd



4, v TEIH:

Question Number : 272 Question Id : 396136878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
HEIREAT FEF T T ?

Options :

Question Number : 272 Question Id : 396136878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
HETeEAT FET T AT ?

Options :

EEELET=)

1. % =2

2. eHH



Question Number : 273 Question Id : 396136879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
qus{leh: FEAHIFT: T ?

Options :

. IEAETaTH

1.

,  FEREAEH

Question Number : 273 Question Id : 396136879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
qus{leh: FEATHFT: T ?

Options :

. IEETETH

1.



, » FEREAEH

Question Number : 274 Question Id : 396136880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
ScadHANST F ATH Jarasgs: ?
Options :

« TTSTSE:

1. ~

, o DITEH:

3 % SPIRCATAASRIIT:

4 % TSHICIII:

Question Number : 274 Question Id : 396136880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
ScadHANST F ATH Jarasgs: ?
Options :

« TTSTSE:

1. ~




, o OITEH:

3 % PIRCATAARIIT:

4 % GSIIEIISer:

Question Number : 275 Question Id : 396136881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Frar ggu AEfafger o b s sefE: 2
Options :

1. &

2. % iIE; HY
3 % qTL:

4 % HATEHET

Question Number : 275 Question Id : 396136881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which of the following institutions is known to have popularised the concept of Indian Model of Microteaching?
Options :

1. % NCTE

2. ¥ NCERT

3. * SCERT

4. % CBSE
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1. % TS (NCTE)

2. ¢ TN 3Rl (NCERT)

3. % TIRIIS3MRET (SCERT)

4. % JISUTS (CBSE)
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An inhibitory effect, a disinhibitory effect, and an eliciting effect are the three types of effects in teaching by modelling. Who among the
following gave these effects of teaching by modelling?

Options :



1. # L Vygotsky and R Gagne
2. % ] Piaget and JP Guilford

3. % J Dollard and NE Miller

4. ¥ A Bandura and RH Walters
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Which of the following is NOT a characteristic of translanguaging?
Options :

1. ¥ Translating between languages

2. # Comparing and being playful with different languages

3. # Combining elements from different languages in the same utterance

4. ¥ Opting for the mother-tongue language over the other languages
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Three statements are given explaining the meaning of certain key concepts related to language in society. Which of the given statements is/are
correct/incorrect?

Statement I: Idiolect is a variety of a language used by people belonging to a particular/similar socioeconomic and/or educational background.
Statement II: Regional variation means the variation in speech according to the particular area where a speaker comes from.
Statement I1I: Dialect is the difference in linguistic behaviour because of differences in region, social class, occupation, sex, etc.

Options :

1. % Statement I and II are incorrect; statement I1I is correct
2. % Statement II and III are incorrect; statement I is correct
3. % Statement III and I are incorrect; statement II is correct
4. % All three statements I, II and III are correct
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School subjects serve many purposes in the educational context. Which of the following is NOT one of them?

Options :

1. # The social behaviour of children is directed through the themes that are dealt under different subjects.

2. % School subjects are now being considered as cultural and historical phenomena, so it is necessary to study about them.
3. ¥ School subjects obstruct the maintenance, the academic culture and development of the intellectual capacity of students.

4. # Studying school subjects helps us to analyses how school subjects are influenced by the society, culture and values of a nation.
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In the following table, Column A contains ‘Pedagogic Approaches’ and Column B contains their ‘Implications for Teaching Learning Processes’.
Select the correctly matched pairs from Column A and Column B among the given options.



Column A - Pedagogic | Column B - Implications for Teaching I earning
Approaches Processes

a. Behaviourist 1. Creation of learning environments that allow and
encourage students to make connections with
previously learned material.

b. Cognitivist and Early | II. The need for information to be presented in a
Constructivist variety of ways so that children find multiple
scaffolds to their learning.

c. Social Constructivist | III. Emphasis on mastering early steps before
progressing to more complex levels of performance.

Options :

1. % a-III, b-1, c-11
2. % a-II, b-III, c-I
3. % a-II, b-1, c-1II
4. % a-III, b-II, c-I
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Options :

1. % a-IlI, b-I, c-II
2. % a-ll, b-11I, c-1
3. % a-ll, b-1, c-III
4. % a-lll, b-11, c-1
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Which of the following has NOT been identified as one of the possible causes of gender discrimination in related literature?
Options :

1. * Customs and Traditions

2. % Poverty

3. * llliteracy

4. ¥ Equity
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Proponents of which of the following theories believe that gender roles are learned through observation and modelling?
Options :

1. #* Biosocial Theory of Gender Role Development

2. % Evolutionary Theory

3. # Gender Schema Theory

4. % Social Learning Theory
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Questions like, “Why do some activities succeed more than others?”, “What characteristics do they share?”, and “How to assess and record
learning journeys?” are the ones that relate to

Options :

1. ¥ pedagogical issues

2. % curricular issues

3. # educational policy issues

4. % educational administration issues
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The current pedagogical practices in school education are best contextualised in the light of
Options :

1. # available teaching faculty

2. % the peer-group

3. ¥ the specific needs of the learners

4. * the textbook
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Who among the following thinkers stated, “Curriculum is a plan or programme for all experiences which the learner encounters under the
direction of the school”?

Options :

1. # Carter V Good (1959)

2. ¢ Oliva (1982)

3. * Tanner and Tanner (1980)
4. % Doll (1978)
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Which of the following approaches for curriculum propagates for curriculum areas in arts, music, literature, dance, etc. which emphasise on the
development of the human side of the learner more than on the development of his intellectual activities?

Options :

1. * Behavioural - Rational Approach
2. % Humanistic - Aesthetic Approach
3. % Intellectual - Academic Approach
4. % Systems - Managerial Approach
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Which of the following types of errors obscures the clusters of traits within an individual resulting in a spurious positing of a correlation among
the traits which are rated?

Options :

1. # Error of central tendency
2. % Logical error

3. % Halo effect



4. % Proximity error
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In the following table, SET 1 contains ‘Types of Rating Scales’ and SET 2 contains ‘Meanings and Concepts’. Select the correctly matched pairs
from SET 1 and SET 2 among the given options.



SET 1 - Types of Rating SET 2 - Meanings and Concepts

Scales

a. Numerical scales i. & set of standards that are usually objects of the same kind
to be rated with pre-established scale values.

b. Graphic scales ii. The scores are rated for an attribute, object or individual
which is the sum or average of the weighted or unweighted
points.

c. Rating by Cumulated iii. A straight line is drawn, vertically or horizontally, with

Points various clues to help the rater.

iv. The rater or the observer assigns to each stimulus to be
rated an appropriate number in line with the set of the given
definitions or descriptions.

Options :

1. # a-i, b-ii, c-iv
2. % a-ii, b-iii, c-i
3. % a-i, b-ii, c-iii

4. % a-iv, b-iii, c-ii
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Options :

1. % a-i, b-ii, c-iv
2. % a-ii, b-iii, c-1
3. * a-i, b-ii, c-il

4. ¥ a-1v, b-iii, c-11
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Two statements are given that relate to types of exceptional children. Which of the given statements is/are correct/incorrect?

Statement [: Handicap refers to the loss or reduced function of a particular body part or organ (e.g., missing a limb).
Statement II: Approaches such as enrichment, acceleration and pullout approach are helpful for slow and backward learners.

Options :



1. # Statement I is correct; statement II is incorrect.
2. * Statement I is incorrect; statement II is correct.
3. ¥ Both statements I and II are correct.

4. % Both statements I and II are incorrect.
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Thermoform machine and vacuum forming machine are commonly used as
Options :

1. * interline Braille frames

2. % Braille writers

3. # Low vision devices

4. ¥ Braille duplicators

Question Number : 296 Question Id : 396136902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

YUTBIH (Thermoform) AR 3R fafd 91 &t 7 SR W & 7§ IgGT HI e B



Options :

1. % gcdgd S A (interline Braille frames)
2. % g P (Braille writers)

3. % 9 T2g Iuaul (Low vision devices)

4, ¢ o 3FATUA (Braille duplicators)
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In the operant conditioning theory, is the process that strengthens and encourages repetition of a desired behaviour.
Options :

1. # behaviour modification

2. % punishment

3. ¥ reinforcement

4. % conditioning
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foh AT Sp o Rigid #, ag UfehaT § O difesd SIdgR &1 IRIGRT & Uad 3R WdTied Bl g
Options :

1. % YIgR YR

2. %33

3. ¢ QE A

4. % 3Hd-

Question Number : 298 Question Id : 396136904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
In the social learning theory, means ‘the person acts on the world as the world acts on the person’.
Options :



1. * observational learning
2. ¥ reciprocal determinism
3. * modelling

4. * behaviourism

Question Number : 298 Question Id : 396136904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Y& e

2. ¢ URWR® Fadadrg

3. % gy

4, % dgRdlq

Question Number : 299 Question Id : 396136905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Who among the following stated, “The purpose of art is washing the dust of daily life off our souls”?
Options :

1. ¥ Socrates

2. ¥ Pablo Picasso

3. % George Harding

4. % Plato

Question Number : 299 Question Id : 396136905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % hId (Socrates)




2. ¢ Uleal! fUBTHT (Pablo Picasso)
3. % SIS grfe (George Harding)
4. % Il (Plato)

Question Number : 300 Question Id : 396136906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Experience in dance and music involve mainly two processes—indirect and direct experience. In Indian perspective, is primarily involved
with various exposure to the culture of the society.

Options :

1. * appreciation

2. % responding

3. % direct experience

4. % indirect experience

Question Number : 300 Question Id : 396136906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

|, % IR

2. % yfafar

3. % T4 SgHa

4. ¥ T SFIHT




